3.

Part A
History ang Culture

Consider the followin,
g stat .
Harappan cultures : ements on the late

L. Th.B ]'?te Harappan cultures are
primarily Chaleolithic in which tools of
stone and copper are used. |

II. They do not show metal

7 objects
requiring complicated casting.

III. The Chalcolithic people in the later|®

Harappan phase lived in villages.

IV. In the Ilate Harappan phase at

Bhagwanpura in Haryana, burnt bricks
were not found.

Which of the above statements are correct ?
(1) LIandIV .(2) I,1I and III
3) ILIIIandIV '(4) L IIIII and IV

Consider the following types of pottery : .
L Black and Red Ware

II. Black Slipped Ware

III. Painted Grey Ware

IV. Red Ware

V. Northern Black Polished Ware *

Which of the above types of pottery were
associated with the Later Vedic people ?

(1) II, III and IV only
(2) II,III and V only
@ LILIIand IV
(4) 1, 1IL I 1V andV

Identify the incorrect statement on the
contributions of Jainism :

(1) The early Jainas adopted Prakrit to

preach their doctrines.

(2) Their religious literature was written in
Ardhamagadhi. |

(3) The early Jainas discarded Sanskrit
language.

They never used Apabhramsa for the

(4) st important works of Jainism,

(4)
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Match the following :
List-1
(Mahajanapada)
Avanti

Koshala
Vatsa
Anga

Choose the correct answer using the codes

given below :

A
1 I
(2) I
3 Iv
(4 III

Consider the following art and architectural

forms :

I Rock-cut elephant at Dhauli in Orissa

II. Yakshi figure from Didarganj near

Patna

IIl. Great Stupa at Sanchi in Madhya

B
II
1
111
v

Pradesh

IV. 80-pillared hall at Kumrahar near

Patna

Which of the above art and architectural forms

C

L
II.

I1I.
Iv.

III.

I

List-11
(Capital)

Ujjain
Shravasti

Kaushambi

Champa

D

(6)

4.

v
III

II .

belong to the Mauryan period ?

(1)
(2)
(3)

(4)

I1, IIT and IV
II and I1I only
I, 11, IIT and IV

I, II and III

=

808 &3 HB Yok
ardes.| arde11
(o067823r303¢50) (0°2360°%)

A. ©308 I G2oNd

B. &% I (@5

C. 25 1. 309

D. ®Of IV. 250D

BHS aS52AS SHOD GHTrA0D TS

BIFTRR), NOHEOR !
A B C D

1 1 nm m I

@ 1 I v I

@ v m I I

4 m v I II

80 & DO QUL [V W DINY

HOKeZ0H0E : |

L 28)S T % oas THS
AR ;

I orer) 9D &SBHos S abs
FDLﬁZT'o_

ML DSINBTS'D 0D S@ e IS
QN0

IV. er)  ONoSR  HEDIE SP

80 N0 HOLINO

2 €8 LB Joe rares SHse
Ferde TOOID DD ?

(1) 11, T ook IV

(2) 11 L8050 I S
(8) 1,11, I1I O 1V
(4) T, 11 88w III

Scanned with ACE Scanner



GS/1G/100

6.

8.

(6)
Consider the following items :
I Turban

II.  Trousers
III. Heavy long coat

IV. Helmet

V. Boots

W}?icg og btheh items listed ahove were
introduced by the Shakas ay ushrans—from
Central Asia? o Lo o8

(1) LIL I and IV
(2) LILIMandV

(3) ILILIVandV
@ LILIIVand Vv

In the Satavahan

a’s inscriptions, the terms
‘Katakas’ and ‘Sk )

al{gl_havaras’ mean
(1) The tax free villages of Buddhist monks

(2) Military camps and settlements which
served as administrative centres

(3)  The areas of rock-cut architecture

(4) The areas of large
transplantations

scale paddy

Consider the following statements :
I During the reign of Chandragupta-I, the

Sakas were defeated. 8.

II. Samudragupta’s South Indian conquest
did not lead to any permanent
annexation. '

Which of the above statements is/are correct ?
(1) Statement I only

(2) Statement II only

(3) Both of them

(4) None of them

In the Sangam literature, Vellalars were :
(1) Brahmanas who functioned as poets
(2) rich peasants who formed the fourth

caste
(3) agricultural labourers who also worked
with animal skins ’
forest tribes who suffered from extreme

(4)
g poverty
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10. Match the following :
List-1 List-1I
(I.’u,lla. van Ruler) (Political event)
A. Sivaskandavarman 1. Samudragupta’s

i

12.

~with respect to Rashtrakutas ?

invasion
Kanchi came
under the
Pallavas
Defeated by
Vikramaditya-II
and city of
Kanchi was
captured
Defeat of
Pulakesin-II
and destruction
of Vatapi city

B. Vishnugopa i

C. Narasimhavarman-I III.

Nandivarman-II

V.

Choose the correct answer using the codes
given below :

A B C D
1) 1 II Im I
2 I I Iv 1II
3) IV III II I
(4) IO v I II

Which of the following is wrongly matched

(1) Amoghavarsha : the first Kannada book

writer
Dantidurga : the founder of Rashtrakuta
kingdom
Vallabharaja : the contemporary of
' Al-Masudi

Krishna-IIT : the famous rock-cut temple
of Shiva at Ellora :

(2).
(3)

(4)

Identify the incorrect statement regarding
the Cholas :

(1) The Chola Empire was founded by
Parantaka-I.

Parantaka-1 took
“Maduraikondavan”,
Rajaraja-I conquered the Maldive islands.

Rajendra-I built
Cholapuram,

(2)

the title

(3)

(4) Gangaikonda

(7)
10.

11.

12.
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13-

14.

15.

16.

Quwwat-ul-Islam mosque in Delhi was built

~ by:

(1)
(2)
(3)
(4)

Itutmish
Qutb-ud-din Aibak
Ala-ud-din Khalji
Ghiyasuddin Tughlaq

Tﬁe Persian traveller Abdur Razzaq visited
Vijayanagara in the reign of :

(1) Harihara-I
(2) Devaraya-I
(3) Devaraya-II
(4) Klishnadevai-aya
Match the following :
List-I Lis‘t-ff
(Bhakti Saint) (Area of the
' movement)
A. Vallabhach:'atrya I. Uttar Pradesh
B. Tulsidas II. Gujarat
C. Sri Chaitanya III. Bengal
D. Tukaram IV. Maharashtra

Choose the correct answer using the codes
given below :

A B C D

1 I I m I
2 II I v I
@ m I m v
4 1 IV I II

Consider the following stat‘,emt_ents on Sher

Shah’s land revenue administration :

I Land was classified into three categories
- on the basis of produce from the land.

II. Land was measured according to a

uniform system.

14 of the produce was collected as tax.

I11.

Which of the above statements are correct ?
(1) IandIl

(2) IandIll

(3) Ilandlll

(4) 1,IIand]III

(8)
13.

14.

15.

16.
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17. Consider the following Mughal structures :

I Tomb of Salim Chishti

. 2008
. Buland Darwaza i e o

P N o
III. Tomb of Humayun 111 QAR DITE

IV. Jami Masjid 4 270 S

Which of the above buildings were constructed 2 ST I8 o)’ ;ydjyoés
during the reign of Akbar ? Q80T ?

(1) IIand III only 1) T80 T Sriebadd

@ ILMlandIV | (@ I, III 805 IV

@) I, 1 and III | @) I, 110805 I

@) I,IL I and IV ' @) LTI, I 08w IV

18. Match the following :

List-T Listll 18, (808 B HOFO Y08 :
(Name of the (Position. of the
Ruler) Ruler) : 2rd)es] arde11
A. Husain Ali I. One of the Saiyid (DoHD D) (D w50
Khan brothers .
p R T i 2 A Svosed L Jasd
f urs ull " e ruler o f _
Khan Bengal P°R & SFSSHOS 2,85
C. Chin Qilich L The Nizamef | (|70 B @B $HO | I FHomS otk
Khan Hyderabad . P .
. The Nawab of. ) N PANARAE e
D. Safilar Tong IV Awead }::lw.wa of C '135 8500 e 1L Q0

D. 9B z0h IV. 38 S8

Choose the correct answer using the codes

hven Bl , AKX IR FEHOD GIVrAOD OB
- DT, DOTDT0 |
A B C D
A B C D
T v
w2 . 1 I IT I1I v
111
4 1Iv 111 11 I 4 v 001 I I
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. (10)
19. Match the followin_g; 19
List-1 .
(Kakatiyq ruler) fg‘;t-ﬂt /
en
A. Rudradevsy I gﬁ?fi’:ibuttflon)
v ng e
capital from
Anamakonda to
Orugallu
_ (Warangal
B. Ganapatldeva II. Thouﬁd )Pillar
" Templ uilt
C. Rudramadevi II1. M;.]::.I;{ mz
expedition
D. Prataparudradeva IV. Marco Polo’s visit
to Coastal
Andhra

Choose the correct answ

i :
v Bl r using the codes

A B C D

1 1 Il Im v
@ I I . IV IO
@ IV I I I
49 m v 1 I

Identify the correct chronology of Later
Mughals :

Bahadur Shah > Farrukh Siyar >
Jahandar Shah > Muhammad Shah_

Shah Alam-II

ur Shah > Jahandar Shah.
ah > Farrukh Siyar

(1)

v

v

Bahad
Muhammad Sh
Shah Alam-1I

(2)

v

v

>
Bahadur Shah Muhammad Shah

Farrukh Siyar =
Shah Alam-11

3

Vv

v

5 Jahandar Shah -

20.
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21. In Shivaji’g 3dministra

22,

23.

(11)

tion, Dabir was :

Posts and hous
The in

Ponsible for intelligence,

@ ehold affairs

() The Correspondent to the king
4)
The Mas.ter of Ceremonies and helped
e king in foreign affairs
Identify  the :
g orrect 'f
establishment of French settle::::;rtl; 1:08Y "l
(1)  Surat > Pongjch, '
e ¢
Karaike] Ty > Yanam > Mahe >
(2) Pondicherry s v |
A anam > Mahe >|
. Karaikal > Syrat .
()  Surat > Pondicherry > Mahe > Karaikal |
> Yanam :
(4)  Pondicherry > Mahe > Karaikal > Surat |
> Yanam ' '
Consider the following Indian stateé g
L Awadh
II. Jhansi
III. Satara
IV. Nagpur
V. Sindh

Which of the above states were annexed by the |
British due to the policy of Doctrine of Lapse ? |

(1) LILIMandV
2 1,IIand IV

3) IIIIand IV
(4) II,1I,IVandV

I&entify the wrong matching of poets and|
24,

their languages in the 18" century :
(1)
(2)
3)
(4)

Tayumanavar : Tamil

Warris Shah : Punjabi
Kunchan Nambiar : Malayalam
Dayaram : Marathi

Brants “charge of justice and charitable |

| 21.

22,

(4)

(1

(4)

2]
2 DOFT OIS, ‘4HE e 92es T
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TION0 MO reyss TTO 2
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ST YENS0H0T N
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88 T

Qr8S > FoATI8 > Ler > §BES >

oS0 .

TORTY0 > Ko > §BPES > WrdS >
O8°R°0 -

(3)

(4)
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L dsoe
IV. &hsy-0
V. 08

DS VIYS) TEroS I3 B D sseS
P8 oo (DS oy doESmo
B0 ?

(1) L II, I 8050 V
(2) I, III 805w IV

(3) II, I 85 IV
I, 1T, IV 08080 V

188 dmr0S EHen HOAD ;O rAe
S )5 HOFOE HB0OA :

(1) SOT0II0 : SN¥0

@) &R X : Hoard

(3) H0BS S0DOSrE : eSO
4) Sairos : HT

Scanned with ACE Scanner



26.

217.

Consider the following statements on the
contributions of Pandit Tshwar Chandra
vidyasagar :

I His great contribution was for the]|

upliftment of women in India.

II. He organized a powerful movement for
the enactment of Widow Remarriage
Act.

II. To propagate his social ideas, he

published Sambad Kaumudi, a Bengali |

weekly newspaper.

Which of the above statements are correct ?

(1) IandII

(2) IandIII

(3) IlandIII

(4) ILIIlandIII:

Which of the following statements is|

incorrect on William Bentinck’s reforms ?

(D

Introduction of
system in the North-Western Province.

(2) Abolition of ‘Sati’

(3) Eradication of female infanticide

4) Establishment of universities for the
first time, i

Consider the following events :

I.  Swadeshi Movement

II. Surat Split

IT1I. Lucknow Pact

IV. Home Rule Movement.

Which of the above main events took place |

during the extremist phase ?

(1) I,IIand]III

(2) Iand]IIonly
(3) II IIland IV
(4) LI and IV

a new land revenue|

(12)

25.

4 26‘

(4

217.

|
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I rds DO

. of) adyodo

IV. 30 &S 55500

DS DES), TS’ QDTS DG
(53¢ ¢5¥eS” 200D ?

(1) I, 11 H8asw III

(2) T8 I Sr{edad

(3) 1L III SH8asw IV

(4) I II III H8osw IV
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(13)

98. Consider the following events :

I. V- . i
181t of Simon Commission to India
IL Purna SWaraj

- .
session esolution at Lahore

III. Launch of Dandi March

Which of the ah
during the tenure of Lord Irw::;ts took place

(1) IandII.
(2) IandIII
(3) II and IIT
(4) I,II and ITI

Consider the following Revolutionaries :
1 & Bhagat Singh

II.  Sachindra Nath Sanyal

IIL.

IV.
V. Chandra Shekhar Azad

Jogesh Chandra Chatterjee

Ram Prasad Bismil

Who among the above founded ‘Hindustan
Republican Association’ in 1924 ?

(1) 1, IIandIII
(20 II,IIandIV
3) I I, IVandV

(4 LI IIandIV

Jowing is wrongly matched

i the fol
Which of e 7

regarding ‘Praja M

(1) Vijay Singh Pathik : Rajasthan
d
(2) Balwant Rai Mehta Madhya Pradesh
jkri . Punjab
(3) Sewa Singh Thikriwald
(4) Sarangadhar PDas Orissa

ZSI

29.
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31.

55/16/1%°

Part B
tution, Polity, Social Justice and
International Relations

which of the following statement/statements

is/are valid regarding. the office of the ‘Wl}_iﬁp’ ?

I

Although not mentioned in the

Constitution of India, the office of the |

‘Whip’_has however been incorporated in
the Rules of the House by the ‘L;;:lers
and Chief Whips of Recggnisgl_;_?m‘_l_;i_es
and Groups in Parliament (Facilities)
Act, 1998,

The role of the Chief Whip of | the
government party in the Lok Sabha is
served by the Minister of State for
Parliamentary Affairs.

" All political parties — whether ruling or

opposition, will have their own Whips in

the Parliament.

The Chief Whip is not responsible to the

~ leader of the House but is responsible

only to the leader of the party that has
appointed him/her to the office of Chief
Whip.

Select the correct answer using the codes

given below :
(1) IandIV
(2) ' Only III
(3) I andIII
(4) Iland IV

(14)

31.
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ROOETHSS 8848y

‘D’ T8 H0230800 Eod (HBers)

(DELIOS” DA/DD TeNeren esyeromn ?

L

RII.

IIL.

D308 o EDoensS 0

2r8S ToargoloS D8 SsSD 38,

‘DD’ 5"0°§© 000, ‘OO0
@Sorgew) D980, 1998 ¢S HBoH

FOBS Qe OO DSrESe

TroDFED HOAL DD NS o
D2r AORSITOES’ FODISESIDE08.

6D’ H20es 5 T HD DD SD
FO0oLE ST FTY DA
L0 DE T ED.

@R)i oo Foen - OTE S g

QS0 DDED GOLTOW.

ML L T o 4 e

A5 D PO TODHAS  areised
SHOB®, Gond B DD 5628 ||
OIS JHWoDS 7Y ||
TODEVAS 575 237555 SR°CK.

AMNS RI$DBS FHRON &IATEA0D OB
QTR DoNToA :

(1
(2)
(3)
(4)

I 808w IV
ITI So°(e5 3
11 808w 111
I1 805w IV
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32.

(16)

In the cont, isti
: ext of distinctiong existing between

a Public Bj)) and g Private Bill

, select the

gtatementfstatements that is/are valid :

I

IL.

III.

A Private By which has been

int;
roduced by g Member of Parliament |-

sitti : -
YINg 1n the Opposition and which has
b
€€N approved by the House will have to

be referred to the law department for

consultation.

A Public Bill is always introduced in the
Parliament by the Minister or a member
of the government party.

A Private Bill will not reflect the policy
of the govern;rnent but upon its approval
by the House, a Private Bill would have
reflected the policy of the government.
Public Bills and Private Bills, reggrdless
of the diﬁerences between them, are
governed by the same general procedure,
and are required to be passed through

the same stages in the House.

Select the correct answer using the codes

given below :

(1) IIandIl

(2) L IIandIV”
(8) Onlyl ~»

(4) OnlyIV~

(Al

HEE DD DB WS Dep s GO
J5BITO  HoBdSy 0,  Bewaren @S
18IS / (DB dothFod :

L

IL

III.

DBHEOS  Erdoydy  arEEI0oen
JEHgH  DIF LS HBA™ O
ERVIATTAN] DA RRALSNINY

Holddone FHo  Jgah TR

2.8

AFDOVSION GOLVOR.

505 DN JVYIET HOS 3o
HeHess T S EROENS
DRF NS

2,8 (DB DY 1DDSS  ITTRVY
LGaé)oi)o&ca) D DY esIrdo
FoBS SUrseh, 8 (DS DY
12065 § DGR, (IBD0DNOA.

DT Deven HOAM [N Hewew,
;8 NP IO HoDOGO
BHow, a8 FFON DFWO & Jo°
DB garodnBEron DO D85S 2,3
¥ o so° @m&oéaaw_@.

B0S BSLDAS FHOLH GITWEAOD DB

NIFETTR), DOTNTOR :
(1) 115605 I

(2) 1,11 &0 IV

(3) 1XredD

(4) IV Srebsd
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GS/

ha

Which

(16)

16/199

of the following State Bill/Bills will

ve to be mandatorily reserved for the

president’s consideration ?

L

IL

II1.

A Bill that proposes to give effect to

certain Directive Principles of State

Policy.

A Bill requiring prior Presidential

sanction but which was however not

obtained under Article 304.

A Bill that attracts the provisions of
Article 288.

A Bill seeking to operate a provision
that belongs to one of the Concurrent
List entries, but' which is however

repugnant to any Union law.

Select the correét answer using the codes

given below :

(1) TIandIV
(2) I,IIandIV
(3) Only 11_1' |
(4) TandIII

33.

808 TBS' D TR DA TRy

‘

Q

5890380 SDIVHBM 8238 § TAhayed) 9

II.

I1I.

TR AFTORVE Q0WOHONDS  §J,
e8I Sr@OdD e@Hen ToHme
DBTEOT DeY.

oL

Ol aded ERVal

 @3380TDs DeY. oS b 3055

304 |05°60 @ocsa)c‘fgaéa.
085 288 S Q220580
O NOT DEX.

&M TS (DITOS 258
BToOS AVOBND e TOASTFOR
SBoese é)@, GONS AO AT 3018
SEPRE D%0.

BHS BS50BS FHOD GITrAoD I

;’aérdw&“}; Qqﬁo@‘“oc% :
(1) IHdaA»IV

(2 L1100 IV

(3) I S

(4) 108csw I
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34. Consider the

(17)

fono“’i“g statements  in

connecti :
10n with the office of Comptmller and

Auditor Generg] of Indig (CAG):

L.

i i

III.

Which of the above &

CAG ¢
an be removed by the President
only j
Y In accordance with the procedure
menti i
1oned in the Constitution but this

d &
0es ' not mean that the CAG can be

im
peached from office in the same

manner as a Judge of the Supreme Court.

Some public corporations are audited
exclusively by private professional
auditors, and the CAG may have no

involvement at all.

The CAG can conduct legal, regulatory
and propriety audit but not performance

audit.

The Constitution of India has not
specified ~ any criterion ~ for  the

appointment of CAG.

tatement/statements

is/are valid ?

(1)

(2)

(3)

(4)

[ and III
Only IV
I and 111

11 and IV

34.

KOO8 By esheb-zd0S 6
20B0S® (CAG) Sorodirds HoDOHOD
1808 (DELIOD HBKEHoS0b :

I oersofosS BES) TS
9 HHEOT T RHB Srighad CAG
SOA0NSD) SR DT
ORI HB CAGY 0D o
©DFOVOTISH I A ©F0o .

I &) 905 sFIBASw | e
IFASS esbede 5o DSBg80m
sAS Todhadeon HOAW CAGS
@ o (HBAO GOGBEDHN)Y.

I, CAG HDEOIES, QoDo(eded DO
ASFESrds SAED AP gTrotdiedd
TR HABH eBE 52,

IV. CAG JOSrdsNE 23¢8¢d osrersorio
er0t3 (DSTETOS) T LIB .

D DEOS / IDEOSOS IO/ TN
€o)TON 7

(1) IH06c% I

2) IV e

(8) 116050 I

(4) 11601V
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35. 1 3
Il Connectiop With the g,
(GST) ods and Services Tax
Council, which .
—— of the following
e i
N¥statements 1s/are valid ?

I.

The GST Council was established as a
Statutory body, but it was later turned
&nto a Constitutional federal body by an
amendment of the Constitution.

II.  The proceedings of the GST Council will
be invalidated in the eventuality of any
defect in the appointment of a person as
a member of the Council.

III.  In the event of any dispute between
more than two states f)veE GST issues,_
the GST Council has to refer the matter
to be adjudicated by the Public Accounts
Committee of the Parliament.

IV. The GST Council 18 required to make
v ommendations to the Centre and the
; imi t
States on the threshold limit of um“‘::
d rvices may .
below which goods and se
GST.
exempf’ed - ;
i the codes
¢ answer using
Select the correc
given below
(qy Handl
v
o) I and
@ 0TV
@ Oonly .

35.

@

2&0Hen SHOOSN 250 D) (GST) TR

%o
[

1

II.

IIT.

8od ¢3S 5

50200000,

£ SN DEEIOD TENeTEN YTOW ?

2568 TS 28 DLVFHS Sogn
D0BRAOO, TN SOTS T

D388 o sor Tmes§ols D3rPS§ HdoPm

Sr8 ) G08.,
IS HgAM™ 8 3388
DOHDO0IBOS” B S0

DEIBIDIE &3"&)&_3 FA)O g,
s"ésécrﬁ‘m TEN2TEN s";'g_).

2D BHHseD) Bo S0 I
&Lg"o 085 B TS0 SBEE,
208 TAYOH FTODony  HD
@T0oS) EMed  BH) T
DO O.

2D TS LELSE By 80
(BXD) :)6:)5&3@ So|do LB
OO DTN TADIOV
GOLNOD, T 0B VS HNIN
DHOAD VIO BV »od

DS AOTIHD).

AMHS BI5AS Tl SIHTrAod) ST

(1)
(2)
(3)
(4)

- RArETER) JOEod :

IT OO 11
I 080k IV
IV Sov(ed 3y

11 $3%e0

-
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36. Consider th,

following statements Wwith

reference .
to the Election Commission of India :

I

II.

III.

Which of the above sta

Th . .
e Constitution of India has debarred
the iri
retiring  Election Commissioners

from '
any further appointment by the

government,

In ° * :
0 ‘Anoop Baranwal Case’ (2023), the

Supreme Court has directed the

Government to. treat the Regional |

Commissioners on par with the Election
Commissioners (other than the Chief
Election Commissioner), as far as

removal from office is concerned.

Since its inception, the Election
Commission had functioned as a

multi-member body.

The power of superintendence, direction
and control of elections to the ofﬁé,e of

Vice-President of India is vested in the
Election Commission.

tement/statements

is/are valid ?

(1)
2)
3

S4)

I1 and I
Only IV

Only II

I,I1and IV

(19)

36.

278 A EO EMWASE Howodod) (§0&
(D3SO HOKEBOHOM ¢

1L

IIL.

2785 To2Psofo DD B TR,
A ¥ RSB SIOR) (020eb $0
DENS0E3 S$C0NB DAITHE0 TOHELOT
DNAOD0D.

(@SrD 2ETIS B (2023)S, DA
S0 Sofod dacwoS (oA
EMASEOD D)EE ENAIES (DT,
ANED EMASE TEOE)  DITSOT
HOKBOTOD M@oY DB
esB30008.

BPS0ZDIN)E DB, ADES SO0

- DIV DD HODOTT DAT0A.

L2P0¢d GATI NS DAVE A ¥

 DB5BE e, BFTIVE0 HOAH DoHo|ehed

e

@S0 DAY ED EDANE GO&.

1SS/ (DELSOES DE/D TEV2PEN

N e Wi

(1)
(2)
(3)

(4)

IT 8% III
IV Sr(edad
II Sr(ehad

I, 11 805w IV
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g7. In the context of Centre — State Relations,

which of the following statement/statements

are valid ?

| &

II.

III1.

Select the correct answer using the codes

given below :

(1)  OnlyIII

(2) TandIII

(3) 1II,III and IV
(4) I,IMand IV

Punchhi Commission hagq recommended
that the Iprocedure that ig
the remova] of President should also be
applicable for the

Governors gs well.,

impeachment of

The law that 18 made by the Parliament

with Tespect to any matter in the State

F . ® 5 a
List in relation to the State in which

President’s rule is imposed, cannot be

Teé-enacted by the State Legislature after

the President’s rule is ended.

The Sark_ai*ia Commission was not the
first to recommend the establishment of
an Inter-State Counecil.

Only the Lok Sabha can pass a
resolution declaring that it is nlecessé_ry-
in the national interest that the
Parliament should -make laws with

respect to Goods and Services Tax.

followed for| -

(20)

97, Bo(G0-01R  HoWOGTe VIO, Sog
BSOS/ (DEOSOS D Tepy

€90)E° O ?

L

II.

III.

@OBS (O ORI TO RN

v

T lRNB  FOA0YSEL ©I03
TR, K598618 ©DIoOIIN Sy
S00IBATOD HoD EAS ?0;}(1;&
TR0,

TP lRdS POS O0BDBS O3P8
Do0RoD TR DS gy
®O0FV8 Do0HD) >Ooey
Erro0oDS B$HOo, TIRIS Fers
SOAVS ST 5 TR TS oS0
59 e Fowarcses.

Ao ATANY
ATRY TAS Inse3d Slopp¥elo\y
EAN 5°¢.

PSOD |HTrEwre c5;3§°; NISVIRSINTG)
D) Fv OO0
VEOD . EFFOBONB0  ©9I5HB0
(08e30T éo’gm%; 55925 'm@:&
SIrQoNO.

QNO20H0D)

BMNS VSRS FHOD &ITrAOD OB
QTrEard), JotSod

(1)
(2)
(3)
(4)

TNV

T 0805w III

II, ITT SH80 IV
I, 11T 0808w IV

B
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39.

G5/1G/100

Consider (21)
the .

connection with fﬂ-lllowmg statements  in |38

revenues bety e the distribution of tax

I.  The pm(:eersi t»he Centre and the States :

levied op ta;: of the surcharges that are

Article 9gg ©s and duties referred to in

Constitutiy, 4 Article 270 of the

between the Co f India, would be shared
icle 268A entre and the States.

CDnstitution o

IL.
fand_ Article 272 of the
by same C . Im.ha were both repealed
III. Tax on thonstltutlonal Amendment Act.
levied by tfl Séle of petroleum crude is
States, € Lentre but collected by the

The net proceeds of tax categories that

are falling under Article 269 of the

e ot o, oot '
Which  of ated Fund of India.
i of the above statement/statements

are valid ?

(1) IIand IV (2) OnlyIV
(3)  Only ITI (4) IandIII
Which of the following statement/statements
is/are correct in relation to the Human Rights
Commissions in India ?
I. The role to undertake functions relating

to human rights in the Union Territory
of Ladakh may be conferred upon a
State Human Rights Commission by the

Central Government.

II. Only 2 persons can be appointed as
members of the National Human Rights
Commission under the category of
possessing knowledge or
experiencewi
The President
Chairperson of
Commission 0n
misbehaviour- Howe?
has to seek the opinio
Court in this matter.
The National Humand S
Commission is not empowered to inquire
. matter after the expiry of two
mtorsal}i"om the date on which the act
ea

2 violation of human rights is
constituting ¥ been committed.

remove the

II1. can
the ground of proved
ver, the President
n of the Supreme

alleged to haveanswer using the codes’

Select the correct

given below : (2) 111 and IV
(1) None 4) 1,11and 11

@ OnlyIV

practical)|’
th respect to human rights..

the State Human Rights

Rights|

39.

B0IL50 OGN OMarer adds D) T
HONEAE  Do20HOD  (80H  (HELSOD
HOMEIoSob : '

I 278 omersoloes s 269 HOOW
836 2708  HrDoDS  Hdv) e
L8050 MoseOR DOHONS HETR
SO0 OO0 HNOOW T°laFe NG
PTeInTATx NV oTAR

I 2rde orersofosSd @3S  268A
S8 eSS 272 Bocky 2.8 T2 30l
D3B8 O T30 B TOHDFOW.

L DEOCH0 15T @80 DY
o0 DON0H R TEFED HATED
Trow.

IV. erded Trersotio’ Qs 269 8o
ST D) ST DS BTrado, oS
S YOTBBE HoBS 2760 5.

2 DEOS / 1HEOIOS” A/ TLRLTED

9:H&*oN ?

(1) 1080 IV @) IV Sread

(8) III Sr(ehad (4) I8a%m III

rESTFOS D SIS T EWASOH

2020500 (808 HELS /Do

DA/ OB ? '

I BoldTrds (oS0 oSS eSS
FEOL S00B0NS VDHOH TIW
(5 ToOS (DDS0 TR SO
TERO EDVSE SOSBANSY.

II 7 80508 02050 S0 BLe
eISeTe528 @IS0 Gd) IYO 180
2OB SEHOLD SIS FBOH ST9S
0O EAX Qe
QOO :

1L QEFDSS DN sSeaor TR
JFSSEe SRS BTBIBIND

TAND SoRotID).  wond &
DA0HOE' TRID Ny
Do) BenwErd) God.

IV. 3788 SPEpe &R0 wossd
20BN BBBONS 38 oA BorY
Keosy SwAvS Somysd AN A0S
SEne  EDASH O DAWOSTI
N & T @H5E0 B

BHS A A8 FHON GJATAOD ST

DR HOE0 :

(1) 6 B (2) T O IV

8) IV r$ad (4) 1, 11 08w II1
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40. Which of the following statement/statements

can be attributed correctly tq the exercise of
Delimitation ?

The principle of ‘one man, ogne

vote’
reiterates

the neeq for the exercise of
Delimitation.

II.  The Government of India cap set up a

Delimitation

Commission for

Purpose of delimitation of

Parliamentary and Assembly'

Constituencies in a select few States or

UTs.
I11.
recommend the
territorial Parliamentary and Assembly

Constituencies but cannot recommend

on the reservation of seats for the

Scheduled Castes and Scheduled Tribes.

The Nodal Ministry for the Delimitation

Commission of India is the Ministry of :

Law and Justice,

Select the correct answer using the codes
given below :

1) I.’ IT and IV

(2) IIand III

(3) OnlyIV e
(4) 1,1 andIV

the|

The Delimitation ‘Commission can only

re-delimitation of

(22)

40.

DB §85238
(DELINDELS S’

Q

HV

OB V00N

SrrOoVRTOY ?

L.

I

I11.

28 A, 2 ey
DB §25238
VIDTER0E.

O c‘()JvLQ‘gO

DODE TS ) oaren S S0
TOS ([ Froeo (UT)ereS TEoerd
DO @od)  darassre
VO FBBS  (DTBrzso €50 EAROR
L;aeéoé,go DN §28230%

DT°IEN TARIRY.

SHVREA

DB §2523:3
FOoerd

SRS | >Ee
SB35 503
A BESTO  HSS SBBID  Sr(e$H

VTS DhHiserss SR NS

Ve Hoaw naErsS Bre )
0223 S8 D VS0 T,

20 HIBsBRS  EWAS  SBS
DOBSS TP IL0 HO TP
aDO(e3eh ¢ T,

A BSDAS FEOL GITrAoD IS

REFETTR) JoTHFOA :
1) 1,1 S8 IV

(2)  II So80%w I

(3 IV Sy

(4) 1,III 805w IV
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B

Consider tp,
e .
folluwmg statements with regard

to India’s Foreign Po)
cy :

)

II.

III.

Which of the abov

(1)

(2)

(3

(4)

Indig’
S Act
—— East Policy was originally
elved g
S an economic initiative but

had 14
t
°F extended into political,

strategi
81¢ and cultyrg] dimiensions.

The ‘Conn
onnect Central' Asia ‘Policy’ has

be
en taken forward with the

institut oy
stitutionalization of the ‘India-Central

Asia Summit’ mechanism,

Under the ‘Security and Growth for All
in the Region’ (SAGAR) Policy, the
DRDO initiated the Marine and Allied
Interdisciplinary Training and Research
Initiative (MAITRI) for the purpose of

establishing long-term collaboration |

with countries in the East Asian region.

India’s Think West Policy is an outreach
to the Western Industrialized nations

for strengthening of relations in areas of

education and defence.
e statements are valid ?

[ and I

1, 1 and IV

11 and III

111 and IV

(2]

(rSST  DBrol DErRE  HoOHOD
1808 |IDELNSOS HBNEBOBOL :

. rOSBi0 Shw¥ O &R TO
TRTVE QY FTOST 2ROV AHO6,
od SHaed oTadodh, SFuyards
SHBA%D 0D BE SererS's
DANBODOD.

I ‘R0B0T-0s Sosr FoeE DAY
oholEofio Ty LOTUBESDSE
“J] 20|06 VST OV’ SNOLHEL
SnHIT0B08.

M. {rososS ©o0c08 aHed HOA
398’ (SAGAR) G0 8005, &)
B0 T35 Brod HFsOs
BHEoD), DB EESBo §H0 DRDO
HIWS  HOED DO 2080
AJVSE  (RNoF ok 816
25¢3S (MAITRDA) (2*E0DO0D0H.

V. ordSTi0 Giwg; ®0S I FOV
PO Dy SO B ores
H0D0TON S DB0  TAHES
755 FOFTNE BTOR RS0,

2 HEOSOS’ DD TN BIHTOW ?

(1) 10805 II

(2) LI B0 IV

3 1II LB 111

(4) 111 80w IV
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42.

430

Which of the fo!]owing statement/statements
can best describe the nature of security
concerns/developments for India ?

I. The development of the Hambantota
Development Zone can be seen or viewed
as a policy of containment funded by
Pakistan.

India’s  support in = building the
Chabahar port in Iran may serve as a
strategic act to  balance the
Chinese-funded Gwadar port in Yemen.
Indian Ocean Rim Association (IORA) is
an extension of the Economic and Social
Commission for Asia and the Pacific
(ESCAP) and serves as a platform for
maritime security. '
The Malabar Exercise is connected with
the Quadrilateral Security Dialogue
(QSD).

Select the correct answer using the codes
given below :

IL.

III.

Iv.

(1) OnlyIV (2) IIandIII

(3) None (4) Al

In the context of Central Government
programmes, which one of following

statement/statements is/are incorrect ?
I. The objective of Pradhan Mantri
Anusuchit Jaati Abhyuday Yojana
(PM-AJAY) is aimed at reducing poverty
of the ST communities by generating
additional employment opportunities.
Under the Pradhan Mantri Shram Yogi
Maan-dhan Yojana (PM-SYM), monthly
contribution .is payable by the
beneficiary, the State Government and
the Central Government.
Under the  ‘FutureSkills  Prime’
Programme, Centre for Development of
Advanced Computing (C-DAC) is the key
implementing agency.
Mission Karmayogi comprises of eight
key pillars that are intended to create
functional and behavioural competencies
among the civil servants.

Select the answer using the codes given
below :

(1) TandIV
3) Al

1I.

I1I.

(2) I, 1I and III
(4) Only II

(24)

42.

L S o

Y

1808 D5 / (HELIOS” DY 2rSSTTRe
S IeTAToTnToLA RV ([T RS ININICOV/ST AR
B D 2T, GLNOMT DB0TIKY ?

I.  JoasSSe BIOVOE =S
D3OI FEFS AN HnErd )
QADO(HED DGPSOTT tIIPCITND)).
RS’ TOF0  LBBH
DB0%0S 2rESTF0 TGy Pk
DISSRD  BAV-AMOS &S
55055 B JNHO0 TORTAE
3888 G5 GOTITNOB 0.
R0AAHS LIS O IFVDAS
(IORA) @O DA HBAW DA
00 @08 HOAH TSrBs SIS
(ESCAP) @Bwgy &&ho) oOAw
D0 9550 SOFT DATR0A.
Hoerd 2ORDAEIN, edodnyes
A (T Do (QSD)&
ONOFROVNDB0R.

BHS BI52BS FHEOD GHBFNOD SBS
QIR oA :

(1) IV Sredad (2) I8 III
3 DBH 4) ®)

S0l& (DSBS SBHESre HodSyoS, (8od
DSOS / IDFOIDS DO/ €89),) ?
(SINVEATA RO~ 2
@2D3A000 A3rad (PM-AJAY) ©F 50
BN BIQ WITFOD DY0TIE0
& $0° ST SP° S5 $Ho3cs0.
DTS OB 13N BEA  SPS-3S
rad (PM-SYM) (80, oo,
ol (DS 50 S8k ol
RS0 T TJOTE  HISE0
3Oowd.

‘WO S) 1R sEyE0 8o,
OO0 DB BIODHoS D
OTISNE 505375308 (C-DAC) 03O
8OO DO ©HeNHET H0.
D VIPOS”  (BresE  SHBAW
DT FTDFTIOD  HgnoTochdd
GB0DS AAVA QroOQozred
DAM 583370’ EOH &oenod.

ANS  BIgAS  FROD  @andrAod

II.

I1I.

IV.

I

I0I.

QTR JotEod : _

(1)  IX8a%w IV (2) I, 1I 8k I

(3 @) 4) 13S0
R
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In the Contey
}4, 1 t of ¢
'“h]Ch Of. the fol]gw]']e Enactm
is/are valid 7 "8 stagen.t of Budget,
E The Ppr ent/statements
. o10DPrigt;
automatic pe elsltlct;n Bin
II- The pmviSiOn a‘lse.
become
re-scheq
the lagt d
a
of Februar; oL
Amendments ;
tax can not

Finance gy

The e x .
pend
C_onsolidated gure

dlscussed_

carries an

ion Account’ has

after the
ebl‘?xabudget cycle from
to the first day

ei .
e nt;l(])ir “€Ject or reduce a
ed in case of the

II1.

charged on the
! India can only be

given below -
(1
3)

Iand IV

(2) Tandim
Only I

(4) Only TV

In _connectit?n with the veto power of the
Indian President, which one of the following
statement/statements is/are valid ? ,

L The Indian President possesses
‘Suspensive Veto’ in the case of Money
Bills but not in the case of Finance Bills.

II. The Indian President can exercise
‘Absolute Veto’ with I:espect to the
Government Bills at all times.

The Indian President enjbys ‘Pocket

’ i itely whereas the Ameirican
Yukd sl ‘Qualified Veto'.

President possesses

ITI.

The objective of t
conferred upon
to ensure a SY

n
balances betéwfl‘:at of the P

Indian President is
Siem of checks and

ha ower of the

Parliament. !
Select the correct answer usl
given below :
(1) OnlyII
3 IMandIV

he veto power in being

(25)

44,

45.

(3

|
a)v@eS BN Jonsyos,  180d
(DSOIMDELIS Hams TEReTED
a0 ?

L Serawosy Hen (18555 DASvOH Hew)

DIDOTOE ek Q08%S&%  5OA
GO0, |

IL D8 D58 a Hod D250
IS BE 5% 23S S
8- O0R S$T7565 4ueS e TS
OF D0 HNBOM SO0,

IL d3]) D JAovosS  H&0)
BENB0BIETVE B  SHoSETE
QI $SD0I2¢8Y).

IV. 2rd& $§)OTBBE Ho& 2 DHODS

29$AD0 MHBOD) SF(HTD B YOS,
OMS ATV FEOD SGITrAOD DTS

 AITTRR)), ODEFOH ¢ :

I 6w IV
II S0 (€53

(1) (2) T080%w III

(4) IV AP -

2P 07 QDB S ©ASTRE . Ho0B0D),

Bod (DELS / (HELIOS DD Tewarew

€95 ? : .

L S ooQdas S Deded DASHoS
VNS A" &0 5D OS)
AN DA3HOS’ 5.

I 2rde oQH8 @)  dSosrsS
0S5 DeNVEd H020HOD Woy3
A" DATWrHOTIES D).

08 TlRdS S A

QABIQEOT @RNLBITE, eoonS
ODNBES (DABOE 5ODE  HED
O &50er.
8  TRANBE  3I52BS DS
OHTE0 T, o0 TN
el {STe\e D8A» FEoew
@ATB0 NG TEOD  SHOAW
2S8R SR AP OoTISO.

O%S ASDAS FEOD GIT/rAOD OBS

QAT R) JotNEOR : :

(1) III Sr(ehad @) 1,118 IV

(3) IMIHBoMIV (4 IISSe0

III.
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Gs/16/100 |
with reference to the Ninth Schedule of the

Constitution of India, consider the following

(26)

46.

statements :

III.

Which of the statements given

correct ?

(1)
. (3

The “Territory of India’ and the ‘Union of
India’
expressions due to which of the following| '
reason/reasons ?

I

IL.

III.

Iv.

Select the correct answer using the codes

given below :
(1) Onlyl (2) OnlyIV
(83) IandIV ,.(4) I, IT and IIT

It was intended to protect Central and
State laws that are included in it from
judicial review on the ground of violation
of Fundamental rights. '
The entries included in it are not
restricted to the subject of land reforms
and abolition of the zamindari system
alone.

Articfle 31B carries a retrospective effect
but it has ceased to be operative after
the ‘I.R. Coelho Case’ (2007).

The entries incorporated in it are only |
done so, by the power of the Central
Government. .
above are

(2) LUandIV
(4) TandII

IT and IV
II, IIT and IV

are two distinet and different

The ‘Union of India’ includes just States

and Union Territories while the “Territory
of India’ includes in addition to States
and Union Territories, those territories
that may be acquired by the Government
of India at any future time as well.
The expression Union of India’ is
mentioned in the Constitution of India,
but the expression ‘Territory of India’ is
not found in the Constitution of India.
The First Schedule of the Constitution of
India is with reference to just the ‘Union
of India’ but not the ‘Territory of India’.
The Union Territories are covered by the
expression ‘Territory of India’ and not by
the expression ‘Union of India’.

47.

Iy

eres  TargofoS'D S ETISEy
QOWOROD, (808 (D53 HBB30B0A -

I 28 (FOWE P00 GO0NS s*8e0om
TIAD  DWE. HoB S DS A
B0 DB T°la) TIEFO B8 oEe
&BF0DB0H.

20’ FoHIEDAS Joden Esero
20008860 HBAW 208 S5
5D @078 ST(eHaD DODS0 SPBED.

II.

[LesBES 31B BFNDS (Dardosd 5On

08, ®ond 2o IR FoHeY T’ (2007)
S0 58 DATONEO SATAVOD.

IV. 200" FoNSED2AS doeden So(
BSEAL RIS Tovk- Yo To N L (AN T
DoHRSTOW.

28 BD)S (DELSOS” DD HBID ?

(1) II080%» IV (2) I, II SH8a%™ IV
(3) II III B0 IV (4) I50805w II

BOLE & ROAAT HBAW ‘CRTODS
B VOAOT” (808 2 SPOLO/SPET O SO
SO  ADNDVDS DO DAY DS
ésﬁééwm?

L ‘ABrdode ¢ R0B0%”  Ide0
O°ale 80w So(HTrOeS (o)
EOA GO0, OB 2rSes 25rerio’
O°[aFen S8 SO e [rosrers
LD, BAAHS’ D dvahoS Zr
2rSeh (DS 50 IS0 TS @
2r2rmre $OR Gotnod.

‘CHrAADS 8 0B T 35888

II.

28 U500 (HDTDOBDB0B, 2
WSS B0’ en $5888e  arde
0°2r500806S” &L S,

III. 2r8es TePsoNoS' St n&rsS
3300 ‘CArAONS  @DH ROBATTEH
PSToTATeTATTATNA TR A JIEPA o 1S JIIPAC 220 o (o)
590,

IV. So|B8rOe |roeren 2rde 25rario’
o 538888 orsor §56 Tohagrow
B0 ‘CHrAADS &9 ROAAST &3
3588860 o300 .

AN BIIAAS FROD GHTrAoD) HJS

DSPETTR) DoEOR : _

(1) IS @) IV Sr(&a

(3) I8 IV (4) 1,11 5808w I

—4
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IIL

Select the correct answer

The prima
ey of equality g safeguarded,

defin
ed and enforced by the courts of law

rather th
: an by the Constitution as|

conceptualized by A V. Dicey

Article
14 of the Constitution of India
constitutes only the concept of ‘Equality
bef i
etore the law’ but does not mention the

concept of ‘Equal Protection of Laws’.

Article 194 and Article 361A of the

Constitution of India are indicative of

~the fact that equality in India is not

absolute,

The theory of equality includes
distinction of merit but not’ distinction

on account of hereditary titles or nobility

as propounded by the Balaji Raghavan

Case (1995).

using the codes

given below :

(1)

(2)

3

111 and IV
I and III

IT and 111

Iand IV

2rEBOD  orbosreds do0sH0D), 8o
WEOSOS"  BAD Mk D35S0
QAT S e3¢5 55 evohEBR S ?

L AV. B &0 75, Hedmdeh 50 B8y
rordses  orergolio orgor sHvo
TIONTTOT D088 0008,
QO FOWVDG0L  HNBAM  @hHew
TOHDEB0A.

IL 258 TersofoSQ ef¥S 14 <S&O
JN0LD  DITSSH0  OF 2P
Jrhad $O8 G0O TR WEPe SIS
SE £ 2755 |DTVOV SN,

111 ap“éé 072305068 &S 194 HBAW
es05S 3614, erd3B30S DIrSS 50
DTG0 AT TR, AFAN0D.

IV. H3FSS50 gy, VFOS0  TBriised
Togy DRy $OH &0N0S SR
areraé. oSS 3 (1995 Trgor
(DBIEOTIDES S0FPB0N8S
DBcen 5] PTAVIN (S HR e Ta~TeTa
H§EP§00 5.

ADS BI5AS FROQ GITrAoD VS
ISP, NOHTOR :

(1) I 0w IV

(2) 1805w III

(3) 11005 I

@ 1580 IV
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49. Which of the following statement/statements

is/are correct with regard to the Fundamental

Duties ?

I Fundamental Duties are confined to just
the citizens of India with the exception
of Article 51A(i), which is also applicable
to foreigners that are resident in India.

II. The Verma Committee on Fundamental
Duties of the Citizens (1999) had
recommended the implementation of the
Fundamental Duties irrespective of the
existence of legal provisions.

In ‘Kesavananda Bharati’ Case (1973),
the Supreme Court of India held that
the Fundamental Duties may be used to
decide the constitutionality of laws that
are otherwise ambiguous to interpret_.

The Sardar Swaran Singh Committee
had recommended for penalties to be
considered in the eventuality of
non-compliance  of any of the
Fundamental Duties. A

III.

\2

Select the correct answer using the codes
given below :

(1) IIandIV
(3) OnlyIV

2) IandII
(4) IIand IV

With regards to Directive Principles of State
Policy, what is the correct chronological order
in which the following additions/changes were
incorporated into the Constitution of India
through amendments ?

I The adding of a second aspect relating to

Article 38.

II.  The changing of the subject-matter of
Article 45,

II.  The adding of Article 43B.

IV.  The adding of Article 48A.

Select the correct answer using the codes
given below :

(L LI,
@) 1,111,111
® v, 1,111
@ 1,1V, 11, 111

(28)

49.

50.

(&

G0 AOR  Ho20B0D) Boa

(DEENDELIOS IB/DD ST 2

I 28830 35203 DBIcEeE,
Sorar 5008 eQ5S s51Ax) VAR
ErGaNE DEven $5e20 2rdes DALy
ST HO8Me0 BAhargow,

L 200 ENE DWOD $6) L

(1999) BRIENS Dd20dSes &S

QOO0 BT (S NS

O TAFOR DI F20a,

BETS0E 288 T (1973)5, 27

855 €8 O SODYS0, ©go

BREIETVE Hodfor &) Sérey

O~ (e TaEATA IS NN Qganosaae

@GNS DDOD  SHTFA0BSS2

DER0H.

OFE  J58e5 ofi e 2w

ErPWE DOOKD 0D HE oS

BOITTOD HBNEISSE B rerd

V) TR0

AMS ABFDAS FROD &HBrAoD TS

QAFEFIR), JOtHE0S

(1) III H8asw IV (2) I8akwII

(3) IV Sr(edsd (4) II 805w IV

IIL

ST @TOZH Ho0HOD,  ISGH
orgoc orde | owrgorios (808
T YO/ST )0 TEIDAS $BS FOER0
De3 ?

I @055 388 o000 306
@07 &FR0RO. .

I esQ8S 45 Ghosy Ao TSy S

1. «=08S 43B 8‘&0;’3.’

IV. @08 48A SQAODRO.

f v AR (()_5_@
BHS aSAS FBOW aoaAow

BTGy Jowsod:
(1 LuLIv i
@ v, LILII
@) IV, 1L L 11
@ LIV, I1, 111
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554”6” 00
. Consider thelfollowing stater
1. The 25th e 1ents :
et insglinztltuflona] Amendment Act
first provisioz a new Article 31C, whose
Was declared as invalid by
Bharati Cage (1971;) In the Keshavananda

. Th
11 e Supreme Court ip the Minerva Mills

Case (198 :
s Scopeﬁ)ogmziledered the extefls:ion of
Article 31C as invalic?eaf;) l;lvfiuprowsmn :
gg:eS“P;‘f;gg Court in the Minerva Mills
importanc ) has considered the
e e of harmony and balance
tween  Fundamental Rights
Directive Principles.
Eh:hpresellt Interpretation with respect
o the Fundamental Rights and Directive
Pr'mc.lples is the same reiteration of the
principle that was first propounded by
the Supreme Court in the Chamapakan
Dorairajan case (1951).
Which of the statement/statements given
above is/are incorrect ?

II.

and

(1) IIandIV (2) II,III and IV
3) I, IIandIV (4) Only III
With reference to the procedure for

Amendment of the Constitution, consider the
following statements :
I. A private member of the House of the
Parliament can introduce the, Bill for
amendment of th :
the prior permission of the President.
Article 368 of the Constitution of India
provides for three types olf ame_nd_r;ments E
- - - > rl y an
simple majority, special majo
rati?'lcation of half of the States by a

i jority. . cig i
;};‘;P::;:sémegts that require ratification

s by a simple majority, it

?f haif;thzef’;::zry ythat all the SFat,e

is 'nl tures must take action on the Bill.

' res?)lution requesting the Parliament to

icle 368 in the same manner, as

gtmengl gftll)e done for the creation or
1t CcOo

bolition of Legislative Councils in the
a 1t1

States.
Which of the

IL.

III.

statement/stabements given

above is/are correct ? a2 LI and IV
21) iI alzldIII (4) Only L
3), Iandl:

e Constitution only after

(29)

51.

52.

DELS& HOBEBOIHO :
2665 Traprgol D56 Beo (1971) §
6055 310D 00D, H BE
DDOES S0 5768 B (1973’
QDO TS (HEB0D0E.
ST Sy TS (HoTE (1980)
085S 31C @S, BOGS D0LHS
BwE;,  HBHY  FAhotto  Eree
TOAQ DOHBODOE.
WSS DS BW (1980)¢5° DOTE
PODE  Boye OOk 3338
IrEe  HGOF OO0 HOA
Jddedoerged BBy BRI INY
HONEIOWOR.
OE  SrHoyen  HOCKW esT3E
ArEody Qo0 DS DL,
S9rES Bpoas 3 (195D
HDHoFSH ST |DBFEHODS
BPEDY, HIOTER06.
28 B )S DEOINDEOIOS IO/ 5.7
1) IIH80» IV (2) I, I SH8Asw IV
3 LIIHOCHIV (4) III Sw(edd

ore3s0f 05GE (DEDE H020H0V), (8od
DESDN HBHFO0 :
L DO30tn 03 S (RIQ Ol
TRDD  SHOBY ©NNS ST S
BRI o {olo MNP INo [ IR LS NN
3T,
2 230’ @RS 368 0T
Eed)  DIBROD | @OBNOB
s Do, OB D0
$B05 e oS Jew Jifo
o7 arO% e300,
Fordn  DrodE  Fen o
CFo® SSFO0TOIS  AIORO
#50, ) Tare FRIDPe HRYD
%85 ATTOI0 @3B0 BEN.
orlares TS 5080 o)ty S
=94 D30T eSS 368
$SB0TON FDOLD ©235Q°
FOSIHED o)

8od
1.

I

III.

.

III.

Iv.

l_::éméi@éear‘\’)oeﬁs DA/
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II.

I11,

ghr;;:]c:; ?Df the statements given above are
(1) LMandm
#(2) I Il and IV

(3) MandII -

#4) IlandIV

Which of the following statement is correct
regarding Parliamentary Privileges ?

(1)

(2)

(3)

(4)

folyg,, .
, TWip
re Orthfoﬁtnlmm\nh |
: Octrin _ "-’“ﬂl.ii.mju;‘ ‘n out. the
Cen €o he « o
of Ind-ncorpm‘alodg- Basic Struetyure’ ]
1a by, ~1intg gy ~ure’.uaa
. Yan Aq ¢ Constitution
ent) lament,
368 op %r]’ i Parliamen,
meng ¢ Conggjp, ot
“’ithout ag')’ Part Outmn
t eCtin 3
he Constitutiong the B

under Article
of India can

¢ Constitution
asic Structure’ of

., ent’s Jiny;
F OnStltution s ed power to amend the

asic St cture’z :{t]halzj element of the

asad Cage’ ( 1992) has declared
- man

to build a ‘welfare
1S an element of the ‘Basic

Parliamentary  Privileges are the
privileges that are enjoyed collectively
by each House of the Parliament, and
not by the Members individually.

Only Members can be punished for
contempt by reprimand and admonition
but not outsiders.

The phrase ‘Breach of Privilege’ has
wider implications than the ‘Contempt

of the House'.

The Members cannot be arrested dl.l!‘in.g
the session of I’arliamc{lt 'ht.ll, this
privilege is available only in m‘wl cases
and not in criminal cases or prevenlive

{ 30)

detention cases,

63,

54.

-
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(1), I,II 8% III

(2) 1L III 805w IV

(3) II 8%y III

4)  II0805 IV
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55 The equal status of the Rajya Sabha with the

Lok Sgbha can be described by which of the
following statement/statements ?

L.

Introduction and passage of Money Bills.
IL. \ '

Consideration of the CAG’s report.

I11. Ir?itiating the removal of the

Vice-President.
T

IV.  Approval of proclamation of all the three

types of emergencies by the President.

S? lect the correct answer using the codes
given below :

=(1) L TIIand IV

(2) ILand IV
+3) All
(4) OnlyII .

56. Which of the following source/sources of
revenue qualifies/qualify for being given to the

Panchayats ?

I The tax proceeds that are assigned to
the States from the Centre may be again
re-distributed to the Panchayats as
recommended by the Central Finance
Commission.

II. Loans from the State Government.

[II. Under Article 243-I of the Constitution
of India, the State Government is
empowered to devolve its own funds to
the Panchayats even in the absence of
the State Finance Commission’s
recommendations.

IV. Internal Resource Generation is
facilitated only in the case of Panchayats
gituated in Scheduled Areas as per the
Fifth Schedule.

Select the correct answer using the codes

given below :

(1) 1,1IandIII

(2) Iland IV
(3) OnlyIl
(4) None

(31)

56.

56.

SEIBE orasgssdy Hard wwerd 800

o) |DFE/DEEISO T 50° DHB0LHHTD) ?

L & Dewer HBH0H0 £H805w esBTE0.

II. CAG J3BEI HOKEaSESE dNFHCH0.

L SIT(RHB SOR0YD (G0 0THE0.

IV. ORI 50 S5 85 HFAYO
%NS eT5°¢50.

ANS VI5DAS FHOL GHTBrAOD DB

QTR DONTOR :

(1) T, I 0808w IV

(2)  II80% IV

(3) @)

4) II3d0

808 srad  SSBen/SrerosS IO
DOTONBOK VSIS S / 0BSD
oD ?

I  SolB0 oG T aredd SEronotddRS
B8 SATESD Told DOS) IWAS
Sy BRS Do P
HOTOHBOK HONES TONIT).

I O 0206 50 ok doegren.

I or8&  oersoloS'D  eRES 2431
D580, TR DTRY EDAN V"IN
SEFowE HoTOLBOR SS S0
DHOD  HODS  IH@EVE  ov(R
PPV AR K DIwisgele G608,

V. 958 DS (@80 At I0)
Fozos ) HOT NSO
NHHOES SR ©OoSRS SSDO
&5 )8 OLPSGO Sohahod.

B adead FE0S GITNOD OJS

DIFEFTY HOWEOR:

(1) 1, 11&8a0 1

) 1180 IV

@) 113500

4) OB
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67. Consi
Re:::::le;R)t:: ed o Assert o
d chopge the cori:-el'tlon (A) and |57
Assertion (A) . et code
In  connect; -
tio :
collection, then anth their gwp urce
e e a7
Rn €rmedigte and the E_the. Panchayats at the
eason (R) . 1strict levels.
The' Gra ' _
m
domain Whef;n cha.ya‘?si_ have their own tax
depend only op s the other two tiers have to
for interng] tolls, fees and non-tax revenue
auns Tesource generation -
Code : o
(1) '
Both : (A) and (R) are true, and (R)
explains (A),
(2)  Both (A) and (R) are true, but (R) does
not explain (A).
(8)  (A)is true, but (R) is false.

58.

(4) (A)is false, but (R) is true.

In connection with the lapsing of Bills, which
of the following statement/statements is/are |58.
valid ?

1. If the Lok Sabha has passed the Bill, but
if the Bill has still not been discussed in
the Rajya Sabha, then such a Bill does
not lapse. :

II. A Bill returned by the President for
reconsideration of the Houses will not
lapse. However, the Lok Sabha should
not have been dissolved by the time the

Bill is returned.

III. A Bill that is passed by both the Houses
but pending for President's assent will
not lapse.

IV. A Bill that is pending in the Rajya
Sabha but which has not been passed by
the Lok Sabha will also lapse.

Select the correct answer using the codes

given below :
(1) OnlylIll” (2) L IIIandlV
(3) IlandIV (4) None

800 d")bfm %0080 OB gﬁa(g;
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QO@?,‘O& '

5 W&;)éw 28560980 202080,
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> éoo ©0dPed $5500 G5B §0 65

:9»0 5 p0e  SDOAID 280 THSS Tady

mlé‘::i) es3NTO.
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D (A) S00 (R) Bodr D230, HBck
- (R), (A DHIBN0H. |

@ (A) HOA (R) Bodkr D0, Bk

(R), (A)Q DS80S T

(3 (A =0, ©oNS (R) ).

@ (A) $), ®oS (R) d230.

DO SOEN0 SOOI SPF J00H0D,

1808 (HEES / (DEEIFOS” DA/ TeVarew

€9eH T ?

L S8525 DNy eBr@oaT, 07 iddS
DD OS® BSEY BBREDS, everod
DL SFTDA so¢%0.

L rdde HS80s §o orHnd 8o
DORG DEY SHAHES.  evand, HE
380 3Ty QDATIE  SEH2S 3D
DAHE SOSETS Sy,

IL &350  Basex BITEODSD eSS

DY Sofiches, DOR0BS’ &)

IV. oresgasest DOAORES' &edy 598 56

YIS0 o 5
QY
0
:\"):xj@;ém&“v’ SEO% aarioD ©89
O &:?,.D” DOthEod .
&
® 11 éoﬁl&j;v (2) I, 11 8050 IV
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h .
o v:/];; cut;E the following statement/statements
- ; ,_'mcorrect  regarding  the Law
S Commission of Indig ?
. It is - ituti ici
I bOdy.a non-constitutional quasi judicial
% 1L i(zsma- of its functions is to communicate
: : OPInion to the President on subjects
» relating to legal administration.
III. Its reports are not submitted to the
Parliament. ‘
IV.

MR s T L, bt

It (ll-las No suo motu decision power to
undertake research by itself.

183211:\?: the answer using the codes given

(1) IIandIII
(2) Only III

(3) Al

(4) I ITandIV

Which of the following statement/statements
is/are valid with respect to the Preamble of the
Indian Constitution ?

L The term ‘democratic’ as used in the
Preamble is a mix of British Fabian
Socialism and American Populism.

II. The term ‘Republic’ in the Preamble
indicates that India has an elected head,
called the Prime Minister.

. The ‘Liberty’ expressed in the Preamble
is neither absolute nor qualified.

IV. The term ‘Fraternity’ as used by the

Preamble, originally denoted the dignity
of the individual only.
Select the correct answer using the codes
given below :

(1) Onlyl

(2) IlandIII:
(3) OmlyIV'
(4) None .

(33)

69.

e E0DS e85 oA Honodod) 808

(205 / 1DEISES” DE DD e¥ad) ?

I A0 072riofedd 8 & arsoidss®.

IL SHIODS  HBFOSE  H020HODS
DAOITFO D T RNBE S edPAST),
BOHBANB0 A DS’ 2,863

AN EINTAL TSN FEOLNIL
Q0B 0B .

IEB Sovor HOFS THLES
D 3ADODBNE (Aradrds) AYATHSEO
S,

BHS  ASDAS FRoODH  @dIBriod

I1I.

D), DOtHEOS
(1)  IISHOckw III

(2) III Sred

(3) ®Q)

(4) I,II.000%m IV

2rGed Trersol DOENTIE B DoDOHOD
1808 1DES / (HELSOES’ DO/ TEV2FED
€9o) &0 ?

L 5855 &HTriods Dy o
530 DS FDOHS FAOBO HOAW
985S 230 FHoNS.

5055 diodole | oF | HP0
rESTFRR (DETRN0IES B DENIDT
DN FRES BHIBI SrAN0A.
508 585805 AS RN
HOTIIE S e BED.

5 BEAHTrAONS  A(erSyss0 ©F
“X0  Jerdd I8 oy TOS)
SR SrOROB.

B As56S FaoR GIHATAoD 1B
NS, oo :

(1) TS

2) 11005 Il

@) TV ArSD

@) 208D

IL

I1I.
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GS/1G/100
Indi R
ndian and An
dhra Pradeh E
: Plallning- Conomy and
61.

62.

In recent times

reaffirmed
Economy. lghicl-lgrc‘wth Or the

:Zatementfstatements
ason/reasons for Indiy’
5]

Indian
€ following
_ the best
Projected high

L. Strong Private
Expenditure (PFCE)

II. Governmehy’ )
Fapital exp
‘Investment

Increase

al  Consumption

ITI.

(FMCG)

Fading of the EI Nino oscillation and
better Rabi crop prospects

Select the correct answer using the codes
given below :

(1) IandIV (2) II and IIIL

(38 ILIllandIV (4) OnlyIV

With regard to the progress of Digital
Payments in India, which of the following
statement/statements is/are valid ?

I Promotion of Digital Payments has been

transferred from the Ministry of
Electronics and Information Technology

(MeitY) to the Department of Financial
Services.
e-RUPI is an institution-based Voucl.ler
management system instead of being
person and purpose specific.

‘Hello! UPT is an Al voice-enabled

ilt by a consortium of
ent feature built by a ¢ :
g:i)g:be gponsored startups recognised by

the NPCL

: llenges of
J X’ addresses cha :
UPIoluI; IZias by enabling offline UPI
rem
payments.
Select the corre
given below :
1 L 111 and v

(3) Only 111

Iv.

I1.

118

Iv.

ct answer using the codes

(2) 1landIV
(4) land1V

61.

62.

&

a8 C

208058 908 w0 (HTH IS°SD ©08 Py

28350 To0od, ©TE (DSND 28,
r8es @B S5 edHE 3002
HSSHFTE0Tron. FTESTI0 @O Fayy
@O 3958 (808 (DELS / (HEES o Ha
&e563) 580/ BETEN 57T, ?

L 2opd (23S 6 TG Si0%m0

(PFCE)

IL (92065550 DG PO S$ADNO 0s
(DS DEP2E D) S 8050

IIL 350 K0S DATBrH SWeden (FMCG)
HOS7e06° SHOHS e TIADH Dasres
1DOSTeBSoe S8 DHHSS

IV. S S o §ees HBAND ST
5DJ0ED s5°08,

BN QN5AS FROD GIBrA0D OB

DT, DOTHE0R :
(1) IHécwIV (2) II 8w III
(8) LIMLOBOWIV (4) IV STedd
résB50S S8eS TOoHe HEHSE
5020800, (808 1HELS / (DELIS® D
DEV2TED €9eH&°OQD ?
L &30S TDoHo (H80 JOFIS)
w05 RGHTVIAS Bs®) @28 SHO|eS ¢
7 (MeitY) OB &38% DI Dormrd
28O BoH308.
I e-RUPI 38, 8548 805 (D3ras0
QABROMT SO DO escrdes S
DS $3760 $5359.
TS UPP o030 FASS H3od)
SO0AS &D RoASr (NPCDT
HBOLAS | DIES [ Tre2es DO
ST°)RAD0 Trso° SreroBocids Al
S DB®Y) - oD ITWD
DNOE H3S.
UPI LITE X' @988 UPI (G5
DDOS)  ROLEHD) oY
rdoDotsto mrior ST
BPOT'O ST ¥ $882,6:008.
QDS BS5088 FEORK GRFTrAoD) HBS
E\l)fiy?‘a‘ag;)oﬁgsoﬁ :
» 1T 8%y Tv v
® MSED g ooy

III.
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Tourism in India has
service sub-sector.,

statements are wvalj
sector in India ?

I. NIDHI is g techn

tl{rned out to be a key
Which of the following
d regarding the Tourism

#

II. The Governme

trillion USD tourism
economy by 2047 i sl
international invgstor:'lth 100 million

11l i]::eidll-lo_tel Occupancy Rate has been
P1Q'Y Increasing alongside a consistent

Tise In the average daily rate and
revenue per available room.

IV. India’s Services Py

zone.

Select the correct answer using the codes
given below :

(1) Al
(3 II I and IV

(2) L,IIandIV
(4) TandIV

i The Interim. Union Budget (FY25) has

proposed initiatives to -boost India’s Green
Energy Sector. Which of the following
proposals are connected with developing

India’s Green Energy ?
I Viability Gap Flmding (VGF) for
utilizing solar energy projects
I To set

I Optional blending of Compressed Bio
¢ Gas (CBG) in Compressed -Natural GES
. (CNG) for transport and Piped Natural
Gas (PNG) for domestic purposes

' IV. Provision of financial assistance . for
' procurement of biomass aggregation

machinery

V. Setting up of 2 pay™
: for expanding the

. tr
system in the °°u§weyr using the codes

s.elect the correct an
Biven below :

D 1,11, [T and V/
®) 1,111 and V/

bio-manufacturing

2 II and IV
(4) v and V

~ Purchasing Managers’l
Index (PMI) has been in the expanding

up coal gasification and
liquefaction capacity of 1_00MT by 2030 |

ent security system |

63‘

| 64.

SSTFoS" Hiorgerd Boro et D G

Sotforr SrBod. rESFFoS’D Hovgeds

SomrdE  HowoHod) 1B  (HELLS /

(DFLSOS" DD Tewerewn eymon ?

. NIDHI &938 e&650 005 Hovgesd
(QS°(88) HBIFa0F RSO ©WOBOBETIS
SBIONS A 0IBE &8 53359

II. 2047 T°¢38 100 OCHS  OSTHADH
RWEPVATHOE rESTTR) w8

IBOCHS USD ewrdzo @d &g
ST YO (H20eh 50 HoED JoDOA.

IIL e Ferard Ben HOA5 eodnerend’
GR) . 08 IT) emrohods VIS
DHHBOS Fen  TEOS  e8NDI)
Ben JKorr NS0,

IV. 278¢d O FOfen 0H2STrRe JrdE
(PMI) DQ8DS) % &06.

AMNS BIJAAS FHON &ITrA0D HBS
QAT DOTNEOR :

(1) Q) (2) L II08a5w IV
(3)  ILIM OB IV (4) 18050 IV

I

S55086 Bols B (FY25), 2rdeDio

TBwEy 108 DS S0 ()OS TIE
SESESTON (DBTA0D08. §0OTES”
IDBFSSeD eSS (AS IS8 ©0F HHad
DD DOHBOS 9 DNOGTAOIDA
Goe) 0N ?

L A5 A8 FERHOS IATBrA0HE ST

SO s HoSoh (VGF)

IL 2030 @°¢38 100MT &TH mMERDSAS
DHOOSD (PEBE DFIAY  DT°YED
DONLO

I1L B30H ©I0Te3 , ST DO DR
FHES M (PNG) §90, S0
JNES M50 (CNGQ)S' 3009 23R
(CBGIQ )80 80080

IV, H3rSrD oifas ovoEe VIS
3% dS*aho @0 OGO

V. B¥o &5 Howod b@o“é)tg S5
S350 DRBoERS 390y g
RTINS SRAOATY a‘cﬁoﬂéci )

AN ABSAAS ;‘geg& AIHBrA0D OB

S TR DONSO0W

(‘i;&‘q{ 11, I%I AV (2) I S8 IV

(3 LIISHBaHYV (@) VS0V
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65.

66.

Which i

describ:; ;he fOl?owlng Statement can best b®
¥ s having resulted in the recovery of

India’s external sector ? e

a : .
) Moderation in India’s merchandise

‘expo i
Shia)rrt i‘l‘ow.th in FY24 accompanied by 2.
p decline in India’s merchandise

import growth
(2) Increasing commodity prices With
escalating global demand
and

(3) Increase in merchandise exports
imports followed by a decline in net

services receipts

(4) Growth in world output outpacing the

‘ world trade volume

Consider the following
Reason (R) and choose the correct code :

Assertion (A)
ards @' simp}.e tax,

directed tﬂw L.
roductivity

Tax reforms iy
; res alt in poslt.lve P

system Wlll
gains-
Reasom (B):

and employment

p growth
tGD'gr ts and

adWeight 0%
urce allocation.

nd (R) are true and (R)

and (R) are tru put (R) does

(2)

(36]

Assertion (A) and | .

3)
4)

Pl

g 000 DSBIGEE,

23
e (555 BA0 &dlor

0B (D5

@ 20 sk

(3)

4 @

SESDS D) Ss59% GBI
HY© HodyBEID PNV
58S erarOsd ORIV

@0 (R) -

SraHBD 28D | PRIOD SeR0IB0
06050 SSG Seron0NS
@I0HOD $HoSBo T ST ed GDP
SO BIGO S9OD OTHSOV.

5 _
D) (@) 8% (R) Bodr dzo O
R), (A)D DISONOB.

@ (A) SO0k (R) Bodkr, daad, 50 B
(A)Q D380 .

@) (A) D230, @S (R) $).
4 (A) &83)), @ans (R) D230.
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i Which of the following statement/statements | 67. e o o' OE Hehrasyres POBS (FSS

;;ff&::;t valid ' Tegarding the National '&5@1@%5 DHBS)(NIP)E 5020800
ru.(:tul‘e Pipeline (N1p) 2 180d (D& / (DE&SS HB/D Teeren
I. NIP includes only economic infrastructure " OHT O ?

g:z;:ztt: but not social infrastructure L NIPS' SIS OF QLR ATe
. RIE 4 - LE’T'E%)?O AT GOEraN SR S
¢ projects alaTEd to focus on key greenfield TOE Scoaraire EBPeD 5.
exdmedfrone Brownfield projects are IL. NIP 3300 §o5ps ASHS >2§oD
e¢ from the NIP’s coverage, SR DRSO ©F 0 DEPKOB. (TS
III. NIP alms, to_oﬂ'er investment opportunities 235 2w NIP  &585 Hod
in Indl‘as Infrastructure sector, and to DI OO DGO,
attract investments into Indig, I 2r88B% T8 dhorasre  Sokods”
Iv. 1Ilru:ha Investment Grig (IIG) as a platform VPVE wITTOD  ©oBOSB0
has ceased to facilitate the NIP and DO rESTISE  DeEPBOD
;:(S:E:; . Invest Ingdia’ is presently e5Q05¢s0 NIP ©§50. °
it O lzlf nl-gf _ IV. 20408 RJ900E A& (1G) SO
e b answer using .the codes NIPQ QoPsdo ToNGo esfdfonod
. i DO AHI8 22BN BT 5D VOB
» 11 and III ,, (2)  OnlyIII (@RS0 NIP nergsesso SFod.
(3) IlandIV- f4) LlandIV AN B 52ES FROD &HTBrAOD IBS
QTR JOTHTFOS :
(1) LIOOOWII  (2) I Sr(edsdh
8. Consider the following Assertion (A) and (3) IMDEAWIV  (4) I,II0805% IV
Reason (R) and choose the correct code : 68. 800 QyAEBE (A) HBK® B0 (R)
Assertion (A) s DBBBoNod DB TS  FBD
Majority of the reported transactions on| - DOHE0d ;
e-NAM are intra-mandi instead of inter- SB35 (A) :
mandi and inter-state. e-NAMS® EPN A {OIAT A TN FITOOS
Reason (R) - D80S 2750, NOB S ) 808
The Agricultural Produce and Livestock OIFE 055 SOW 506 Sde) adoeoy.
Marketing (APLM) Act, 2017 provides for 5080 (R) : !
progressive agricultural marketing reforms SESTOh @S R DHOAN  HHH0NS
that include greater focus on intra-mandi ArB30h (APLM) 50, ~ 2017 &oas
Al SHO erTBIOD NS SR IO

GOT (HEDID S50 38,306

oy 5086608 ©0HROE.

(1) Both (A) and (R) are true and (R)

explains (A). - (51‘)5 =(A) 808 (R) BOGT Q20 O
f @ Both (4) and (B) are true, ut &) docs (®), WO DIORD.
‘ not explain (A). @) (A) OO (};}jg)ocb‘, NAD), 5%V (R),
' ) (A truo, bae (1 B0 (Ajgigawogné (15&) S
: . t (R) is true. 3) (A @0 % (R) D20.
& (4) (A) is false, bu (4) (A) é@u), 0N
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69.

70.

The strategi tecti
i gic objective of Asset Monetization
1me may be explained etizatio
as

(D

(2)

(3)

(4)

In co
following statemen

I:

IL.

111

(38)

An initiati

investm::;l-lt;;r ¢ to unlock the value of

utilizi 1‘n Private sector assets by
1zIng public sector capital

Involvin,
g an  indefini i
. efinite  period
gl;enseﬂease of an asset, owned by the
ve
rnment or a public authority, to 2

private sector entity.

Facilitating an opportunity for public
asset owners to use new financial
structures by utilizing capital from

private sector investors.

Offering an alternative mechanism fo

the PPP model.

which  of the
ts is/are valid ?
for

Trusts

nnection with ISEBI,
t/statemen

exempted regulations
Investment

SEBI

corporates
% of their financing

]Iliﬂimum tlcket size

: ed the .
SEBI mcreasbond -nvestment 18 order to
Lsibility-

. yestor respo
1 the RBI introduced the
wil

t Scheme:
answer using the codes

the issuance of

69.

70.

(A

ST QB8 Ssiesys

':115_;05‘335"&4
(RO Soh
FATSVEN PN

(2)

A.
5 @@aéo‘d)e) Qo
AB3eAOIBO TS
pareven S8
& 5RO

(3)

B50GH0S
2300 02580
rasTe DN

LB :
22058 Z)J&’);)‘omoao&.

SEBI (2050 1HBFE0E,

1L
e SRS DY $TIVOD 20ED
=y§rs8e 28 orso” O R
05307’ 26% D INOO™ 8o°)O.

1. ePETHO 25755650
(6 )20t rdE ST I00 Aol
2épad gy EDH 856 HOSTETRL
SEBI 20008,

IV, eBD0s 2ren SEBI 0B FO§ O
D (DSFnG0d.

B3 3358 FHOD aHarAoD N3O

DS oA :

1 1$30

(2 I, I 8w IV

3) I S0k IV

4) 1 330
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5/1G/100 (39)
1. Consider the following Assertion (A) and|71. 808 &y9%8e (A) DB 5820 (R)
Reason (R) ang choose the correct code : DOMedosogy 0B BT SG™
Assertion (4) 0N 0H : -
‘India Stack’ hag enabled an online, paperless S)DESe0 (A) -

d ]
and ca‘shless digital access to various QOB JrF’ DAG (DS HEAW
NS ESHioen, Wi o vedesd AT (RIS DS0H 6SBS,  H06  s2res
of conducting e-KYC. & ¢

DOAD SH Bres B28ereS AT I

public

Reason (R) : BS0DoD0. Ho& éa-ﬁé‘?\) QB s
India Stack consists of two interconnected D) S$Hod. .
layers, and of these, the ‘Payment Layer’ has 5*U€0 (R) : ;
reduced the cost of conducting e-KYC, RO&AT F§ Bok QOLBITEE Sand
Code : O IO &otnod LB HESS
() Both (A) ang O ats Tt and 05 TO0DH BAWE’ e-KYC QBT HEY YD

explains (A). i Sadal:
(2) - Both (A) and (R) are true, but (R) does| 5‘5.’ "

ot explain (4), | @ (&) HBa (R) Bodr Jzo SHBAw
(3)  (A)is true, but (R) is false. . R AP S30od.

‘e & 2) (A) DHOA™ (R) Bodkr Jadh 58 (R),

(4)  (A)is false, but (R) is true. (A) DSB0STEy

3)  (A)Q220, ond (R) ).
(4) (A) )), ©ons (R) D230.

)

ﬁ) Pick the correct sequence out of the following

: ith regard to the pr t '
mawaly . § % 4= .= 1Y TURW Y AP

- ailing inflation tr in -

:: . Sémos @) 020800  Lod

B Beo s’ 13 (50 JoHEos :

(1)  Food Inflation > Headline Inflation » (1) &35 |SS%O)R0 > DT KBS’ 503600

Core Inflation

> 0[S |93’ se)800

(2)  Headline Inflation > Food Inflation >|  (9) |1 (S5S0)90 > 6356 B seye0

Core Inflation . 5 B0l (&S00
(8) (Food Inflation = Headline Inflation) < @) | (@58 (3S50)00 = DTS

Core Inflation (55%5)E20) < BOLE 13S0

' B335 (S’ 50>)600
4) Core Inflation > Food Inflation » (4) Bold (S S)EN0 > _
. i s DTS (BSe)e0
Headline Inflation .
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73. VVhich of th
Which o — (40)
L o i connecgjg ™ Mtatements | 7.
ecorlfil;;h m::-ﬂation c)’hl:enﬂatinn ?
India, € angd More ks
e Pronounced in

74.

ITI. Reta;

increas;i .
reasing Commodity prices
The Bha initi -
rat Da] Initiative has also been

SEIEiict'et?lded to include moong dal
: e corr s
given below : ect answer using the codes

(1)  IIand IV (2) IandIII
(3) II,IIIandIV (4)" OnlyII .
. /s

IV.

Which of the following statement/statements
is/are valid in connection with Enhanced
and Service Excellence (EASE)

Access

Reforms ?

I EASE Reforms are go_verned by a board
ho are heads of premier

of directors, W

ncial Institutioris in India.

Fina s "
xt progranlme had just one
- EASri: f the Common Reforms Agenda. |
rlc" excellence in  customer
I11. Deh?/ermg digital enablement is one of
sew;ce ;V ;h es conceptualized as part
the tou
0
of EASE y mtended for both
Iv. EASE gef:or k (PSBS) 35_ well as
Public ec
he codes
NBFCs- . answe’ sing the ¢
he
gelect t
g—iven below :
(1) Only 11 I
@ g and!
(3 11 and I
@) pand!

74.

- 8arby) (E

@\

@5‘5@3@%5 E\'?OZJO@OD 8od S |
ESGD&L:Q;) TN BYerq, 9

HELIO
IL wééﬁéoé‘ Spex) O30E) H50% B0
' Lc:soS‘,sD,)E?’O (5°Q D= géosﬁgogs;); S(go
258065 D8O EQDNOA.
s I B8S e
L gééé‘éoé& b, SO)EP)y
. S0 1DS50 Ty,

20H0BO0 ,
O @t SES AIAHDS Mg,

20000.
2yEMEDY
9024 |(rB0B0
KeaHoorr OB

5938 BOIER8 78S ¢

s drar IR0
BEHS B FDAD EhoD GO N0D O3S
DTV Jochsod :
(i AF ndasw IV (2) 10805 III
(3) 1I, [T 08030 IV (4) TI ST

IS55y5 OSrBIR SOOI D850 VBB
ASE)& 50200600 (808 DS /
8SOES” DO/ Teartn eYTon ?

[ EASE Q0)3ed 2T 3SBIOS'D
DS 888 Do OISV &)
BOEE SDT B0 O
EASE 008 Mgy 3500 28

3080 % s*8omr

- S 6B (&S890

V. 200

II.

(01) (FETS5es GOD — TS 802
DBOTT.

L AzeS dSodRols 5938 DI
Bass  wodokdo @30 EASE
6.065° 2r80m SrrodotdAS oeenrd
AHexeS’ 2,8¢3.

IV. EASE Hodydeen (02068S o
2750860 (PSBew) everd 7S-275030D
gq_mgi)oﬁgé Soden  (NBFOR

0Q0¢38 &TF0IFOW.

BMb) 35238 g&og 2 oD B3

NI, DOHFoA :

(1 I Sresh

(2) I, 1T 8w III

(@) 1 80%y 1\

) T8k Iv
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I This . scheme covers brownfield
enterpriseg along  with greenfield
enterprises.

II. N0n~1ndividual enterprises are also

eligible t, avai
scheme Provide
complied with

For drawa]
10 lakh, ¢
by way

l the benefit of this
gl certain conditions are
1L of Working Capital up to
he same may be sanctioned
of Cash Credit Limit,
l1;’-e81d<=3:s. Primary Security, the loan may
€ Secured by 4 guarantee of Credit
Guarantee Fund Scheme for Stand-Up

India Loans (CGFSIL) as decided by the
banks,

Select the correct
- given below -

(1) IIand IV
(3) L II and III

answer using the codes

(2) TandIII
(4) OnlyIV

Consider the following statements regarding
the RBI’s Digital Payments Index (RBI-DPI) :
i The Reserve Bank of India (RBI) has
" been publishing the RBI-DPI with 2021
as the base year to capture the extent of
digitisation of payments across the

country.
II. The RBI-DPI consists of 6 broad
parameters that have in turn

sub-parameters.

III. There has been a constant increase in

the RBI-DPI since the time of’ its
inception.

‘Consumer Centricity’ is one of the
parameters in the RBI-DPI.
Which of the above statement/statements
is/are valid ?

(1) IIandIV
2 I,II1andIV

@) I and IV

v,

(41)

75-

76.

@) Only III

[A]

Fo&-e90 50Acsy DPHE0T  HowoHOD
808 DB/ B HE/SHD JBSD ?
L & d%%0 ASSHS DOEE| DBDS e
'S 082328 0568 €35 ToA.
I 8)  Hdehveyn B Ss&HSBess
QoY Eree &s DGO DHBraTR)
TOTONEL e,
10 ©fo I8% H$6)08 S S (@
TOO@RE, S5 (BAS HBMHS o 3o
O™ 3&06&;&)‘3.
EONE  HAISS  Frew, ersosoen
QRONODIENT, Fok-e0D 0&05T
ST £30 &S ™5B0e3 Ho& S
(CGFSIL)  Gw%, B8 orsor
ST, WEE S0 ToHSHh),.

Orbsd 2 528S FhOS GHTrA0D $BS
QALY JOTHEFOR :

(1) I8 IV (2) 108c%w IM1
@) LIOOOIT (4) IV e

III.

1v.

RBI-G20S TOoHe &rd¥ (RBI-DPDE
Q00RO 180 (DELSOD HBHBOSO -
L. Ox05 ars0§ &9 =0AS* (RBI)
Bizgomr - 3DoHe SBBBAS
DO SoHTSN TAHETAE 20219
B 206 RBI-DPI Q (5000 d.
II. RBI-DPI 6 &d-roededdedy &od

ARPed T WO EON &oLNoA.
III. RBI-DPI  |r808A0) Hod
NB0SE0 DEHSTS S0d.
IV. RBI-DPI S oSS’
DATPrETHE  ZolOD0NY TS
2.8e3.

2 (DEOS / (DELIOS DO TeRarew
€96) O ?

(1) II0a IV

@) I, 11080 IV

(8) III B IV

4) I Sr|d
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(42) S0 am-ogoﬁ ODo@orrge
77. Which of th : déﬁéo &3S / RELSeS ¢
QUaliﬁe:/ ? following statementstatements | 7" eroaao@ozﬂ 808 &% =
o -Qua ify as valid in connection With ~ i © 7o 7
e banking mechanism in India ? P 238 (55D
; ; 2,003830 dOS 3AE
r Increasing the Cash Reserve Ratif I oo )CRE D 0 ¢
& - &
(CRR) will result in increasing credit B9 @@rbé)o
creatiOn.F ik 2e 5O 2208 (s 8205
o © cs GIas BOH
; 59 W)(CRR) =
II.  Cash Reserve Ratio (CRR) applies only il % 20908, oS
to .the new depos.itl’ base while the o‘S.F"éL)i i S Ser5e> 2530
Incremental Cash Reserve Ratio (ICRF) ” 5 w5 0zbs TROW
| - (5080 :
specifically targ‘ets‘: t?e new borrow (CRR) o Fcgorr g Sogalifared
lending base. 560 ?50,‘0; o o Fn500en0d.
IIL. . ‘Tenor Premium’ ‘38" an imP_OrtaPt - :I;‘Q&’Jé S'F(S s ;)05;] zicg BOCSOF’-
| ' _ ok |
component i the caloulaties of the 545 (MOLR) 895 B35 (A0
Afarginal Cost of Funds b35eC Teas| & SppEd &0,
Rate (MCLR) | v 57038 arodof 2,208 (MSF)
o ing Facility (MSP) 8 58O O e
v, Marginal 5% , : - £HBO
’ . jong-ter™ policy rate and 18 P o i [on A v el
as @ '
P - Jower than te Bank Rate. FEe0m 2rs0S Dew g0t ST
1 oweé | :
geer®! GOENOR. :
| oct 805V using the codes BHS 355088 B & H03rA0w el
select' the e \/m‘ - .
given belo¥ : ASFETTR) JOHEOR :
d) 10V (D) 158050 IV
; (2 1 :
@2 0 i / I S 83
@)  1vSpr
- only IV CBY
» 1T
w W and IV 8ok IV
__‘

(a]
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78

II.

III1.

I
ci:nﬂ'.le context of India’s fight against poverty,
Sider the following statements :

I Unlike the Global Multidimensional
Poverty Index (MPI), the National
Multidimensional Poverty Index (MPD)
developed by NITI Aayog does not make
use of ‘Alkire-Foster’ (AF) methodology.

IL. ghe _urb.-?.n Population witnessed a larger
ecline in poverty ag compared to the
rural population.

III. rgadhan Mantri Garib Kalyan Package
( MGKP) includes the coverage of food
grain entitlements.

. s

The Multidimensional
Povertvy Index
(MPD is i

incidence of multidimensional poverty

and the intensity of poverty.

Which of the above statement/statements
is/are valid ?

(1) TIandIV
(2) OnlyIII:
(3) TIandIII
(4) None are valid

Development Fund (UIDF), which of the
following statement/statements is/are valid ?

L The fund will be established through
reserved bonds taken from the G-Sec
market. ‘

The fund is to be exclusively availed by
private agencies to create urban
infrastructure in Tier 2 and Tier 3 cities.

Eligible activities for UIDF shall be
connected to the Missions and
Programmes of the Ministry of Housing
& Urban Affairs (MoHUA).

The fund will be collectively managed by
a cluster of Municipal Cooperative

Banks.

Select the correct answer using the codes
given below :

(
(

2 L1land IV,

Only 11,
(4) IandIII

11, 111 and IV*

1)
3) -

computed by adding the.

(43)

78.

(3)

- 79.
In connection with the Urban Infrastructure|

[A]

DOOSTVE  $3BBkorr rssdio FNS)

FOL D088 0, & B0 (HEES®
HOBBOHOA | (Lol RS LANNTS

L @008 250805 %5568 Hrd
(MPI) 58 s*%oocr, H& (NITI) es3BrBh
?i)b,y@ BSOS 2AAH  2IVWAAH
D08 Y (MPI) ‘@98 5-9965 (AF)

DRV GHTBEBOED.

O ([T 27rs SO0 H&n sy &
DEBE0GM & BoDoA. o

I DS Ho@ K85 Serges s’
(PMGKP) &350 orarser 8o 85828
= el AV eTm T '

IV. 23005 HEBE &0 (MPD &0

DIVDBAH DBBEO HOBAN 58%0
BwEy  BSSS  Shotdo oo
e,
D (DI / (DSOS DB/ Tewerewn
€9:)TON?
(1) IN8cwIV
(2) I Sredsd
I 08w III
4) 0 TOX
DR BIYIS  FIoIO @9DSH@
QOE(UIDF) Ho2080D), 808 (D¥S /
DEOIOS” DA/ TEV2FED YT OW ?
I.  G-Sec 37035 0B SNTRAS 8288
2T0C T°50° A8 F 0RO,
B0 2 B WO 3 oS H&e
OXTNN FETOD EraroBotEs
& DO (HBg80rr SO ABR)o 5o
oD,
UIDF €50 @de $ONS sedsderaren
KorQomed SOOI IPH SST°O
S0 @ TP (MoHUA) Ty IR
28050 SRV
HOTAOIDE GFOLTOW.
z&ggingm :ni&g.{)é FadBe3S
20800 s é‘&f’ o5
20ncd2) 0.
@mf ?QZZ&& s‘qm&@ GHTIHOD DB
S8Ry SOBEOR ) 1 ey
(1) SIS 11 S8 I
3) I, I 00V &)

IL.

IIL.

Iv.
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Atemen g, the ‘ 808 DB / DEOSOS DB/ 30,

atements . following Qarey

. 18/are valig » £9o)&" oW ?

d Natio:lal Dstity L ¥ :.9@-5385’53 R0K8BAS s,
CXteIlsign g‘im of Agricultural 805 DIEOOVDAS SSg e, oty
€ntre wyy not he et (MANAGE) HBoHEy  MANAGE  (Rasé .
Selection Procesgg ofﬂfreslding over the e e oisord RN
are receiveq € applications that TS5 Do) oo 558 &
Agrl‘Business In ander Startup HarOTICD.
cubat]()n ngramrne Vi Ve v,

I I SrQA800, OO, Sk,

'+ Mentorship,  Advisory,  Assistance, PBFHES HOD S90 (MAARG
Resilience ang Growth (MAARG) Portal A QQoh s8DAHS
1S an exclusive one-stop platform 90&6353- (§E)La;j) 3}(“3;\’1)3) (AT)
mtend-ed for guiding startups in the. '?og‘ﬁé‘ FEDOH é)‘QK)@%o .
emerging Aritificial Intelligence (Al) SAHTRE 2. |DBEDS SSTD TS
sector only. ‘ _

B0,
] ' - S .= v 5
III. Startup India Seed Fund Schellne_ I11. @‘Qoa Q0RO v& DO& n)i,oﬁ) (SISFS)
assistance o 5"31_':‘11"5 It icondueting DELFODTAE @ Ao
«proof of concept’ tr1ais:  ©9080%%0 e o *;)eg)f\)o&. ,;
Scheme (FFS) for V. ¢ §50 Ho& e ok NS
rv. Fund of FuamisaI1 ¢ to contribute to (FFS) ©F6 SEBIS' 6236 Sahads

- - me

Startups . nvestment Funds DI (WEaEryaH DePad DGO
10US Alwrna SEBI Vi éwg)g
e . tered With the (ATFen)  dFsedo  @0Q0
(AIFs) 787 &F20352808.
. the codes’ ;
coprect 257 e | 605 asmas fhos adartod ¥
the :

Sfi:zn pelow NArERQ) Joths'od :

gi ar (D) Teoasw I

@ ! s @) 11,111 8% IV

@ W i @) 1 SH6a%0 IV

111 a4 @ TS -
3) 1
nly
(4) O
——— A
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(45)

ll C 1
9 onsider the following Assertion (A) and
R
©ason (R) and choose the correct code :
Assertion A) :
The Nationa] Product measures all goods
and services Fhat arise out of economiC
activity, whereas National Income is the
Sum of all incomes as a result of the
economic  activity. These two are
Synonymous.
Reason (R) :
The Production of goods and services is the
outcome of the use of capital and labour,
along with the raw materials, and this
automatically generates income.
Code :
(1) Both (A) and (R) are true and (R)
explains (A).
(2) Both (A) and (R) are true, but (R) does
not explain (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R)is true.

81.

08 S9DESE (A) 2808 58620 (R) 0
DOMEBOt0B S80% 2B €6
QONToA :
B)DESed (A) :

0D &SN IS e88 sEsserare

IR &) Sadhg ®Q)  SHew
DOAD  VIOD  Fendod, wond
2 S0H SITOHo IO Q¥ sdsserare
OSSO 5T ) I@g&); BTOSTrO Jndo. S
Bodkr DTODITEN.

5’00 (R) :

AWJEN HOAM VIO GS$IB IO
S0B HTTOSE Jew, SreS0 HO
3D Ao DOeSorr 8008
DOA YO D IOVOTTOFOMT SIPATR)
€5eh )& TROA.

8 :

1) (A) O (R) Bodhr B0 HOAW

(R), (A) Q DSOR0H.

2) (A) SBaw (R) Bodr JBD, SR (R),

(A)D DS80S Teb.

(3) (A) QS0 ond (R) ).

) Q&B0.

@ (A $) eS8 R
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I

II.

III.

@)

WTO) 9
The « (
Peace Clause’ ynger the Bali
that developing
d the 10% ceiling

Agreement Teiterateg
nationg must pet eXcee

limit fop Public Stoc
initiatives.

The ‘Green Box’ prohibits the use of
direct payments to producers which are
not linked to production decisions.

The ‘Reduction Commitments’ are
expressed in terms of a “Total Aggregate
Measurement of  Support” which

includes all product-specific support and.

non—product-speciﬁc support 'in one|.

single figure.

rt that would normally be
po

Any B Box’, is not to be

ed n t,he ‘Amber

farmers to limit

«Blue Box' even if the|

or USING the codes |

kheldjng schemes|

b

%50 Fedess Hox (WTO)S0 ey
HNAOC;

&)

5020600

% Ddnesg
8OO DB&S / DE ¥ eres

B/ TV ED ORT™ON ?

IL.

B8 By

3® 25)0S0SRD TS D20¢es:
@S0 TOSS) Ben H8§ %
=500l DPSO FESEIr Fo 194,
590F DOV WOodErEEy

HIOTER0L.

G838 dgaros
H02050 B oSO - Fm

BOoHOD SIBrAoNE)

ANAENOA.

I1f.

‘S0 EEPereY’ T “oP Tnd)
B0 Fors” Hom $5888052A08,
BONS” @) & )B-J08 HPH
DO ered YBTHSS-AYN NP 2.3
DSBS Boenod.

VTELROTT  SPeH0 257 (9025
DINS wor  Oge H9S

A EYS oSnde, 0539 D8

B

(1)
(2)
(8)

(4)

IR0 we18y nomso TV
BTN 688,
DA ey auariod

Q‘Eﬁ‘a; 'DO‘:SJ?O& 3
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3.

C -
R::mder the fol lowing Assertion (A) and
Son (R) and choose the P

Assertion (A) :

Coal  washing results

igrilrl:l;atzon efficiency and

g 1‘? Ic:;:tent .costs. However, the use of
€d coal in India is still limited.

Reason (R) :

' 2:; ];emlf;ed. establishment of coal washeries
washin abtrlputed to the perception that coal
gon Erat%o Y 1ncreasing the cost of electricity

late s n, would adversely impact the
plants i terms of ‘merit order’ scheduling.

Code :

(1) Both (A) and (R) are true and (R)
explains (A).

Both (A) and (R) are true, but (R) does
not explain (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

in increased

(2)

(3)
4)

Which of the following statement/statements
is/are valid in- connection with Sustainable
Development Goals (SDGs) ?
I  Achieving Goal 10 will require an entire
reform of the financial system that
promotes equitable pay and decent work
for young people.
NITI Aayog has developed the National
Indicator Framework (NIF)  for
facilitating monitoring of SDGs in India.
‘Mission LiFE’ aims . to influence
government and industrial policy to
support both sustainable consumption
and production.
The concept of global citizenship
embedded in Sustainable Development
Goal 4 (SDG 4)is a rgft‘arence_term-that
indicates flexible citizenship rights
0S8 countries . for the purpose of
?:zﬂitating petter labour n-larkets.
Sipct “thie 6 wer using the codes
e

orl'B'Ct ans
given below

@ Al |
(3 OnlylI

IL.

IIL

I,1Iand IV
Iland IV

2
(4)

reduced | .

(47)
88.

II. erdsdios

III.

808 PoNEBE (A) B S0 (R) ©»

20830508 458 “
g O\ AP Yo PN TR Yo T

SDEBe (A) -

SPD  8dkcso S '

= D GBS0 P0

é)g:mé)o& 0AD  EPS mgin
é&ﬂ??f'ﬁa g:)gméég&%& ARSI In L 1o10)

80 7D x

e Je38 H58es0.
H oNbe 58 CUPAIN SV T VY Y
SHIY JFA) VOBBO TE5T STHD
%c&r‘ic‘.&o DY 'S 488 ndridoh
féorr“ FToSoD (DBIre  1HDerSo
DERSBIONT 2SS SO T ISD.

6 |

(1) (A) Q HBAW (R) BOLr Q220 HOAS®
(R), (A) Q INBN0H.
(A) 00050 (R) Bo&r Az, 5 (R),
(A)Q D3OS TeD.
(3) (A) dz0, ®onS (R) 53)).
4) (A &), NS (R) A230.
VG @9 H9@ OFT 5O (SDGe)S SO20HOD
80O DSOS / (DEOIOS” DO/ TeReren
)& QQN ?
108 O TOOVERE AN
JIFISDS eSS0 HBAW HOD DA
&S roT @8 S5 OISy WETe
H0D5E9 ©INO0.
SDG® DE$IE.9eD
Heasss0 ToHERS A8 (NITI Aayog)
Gyl FasS modseb (N0
(NTF) & e9939® T08.
HAS B PODS VA0 WO
&$)® CoA0sE HEH 2 S
ooy SO0 FOFDE DT
oo Toheswh L5 RO
3 5 oo eh3yg ol BDG 5

. S DEBSAD 27O
FoHBAD 1P Sers
wIo OO 8pb 0% @6‘
s T agAee  BEC
w3 B T S

O ererdy J0ws08,
(1) @(‘\)l éﬁ)
(3) 137

2
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B85. “{'hich of the follow
regarding Human D

I,

II.

III.

(48)

ing Statementg are valid
evelopment 7

Two countries Wwith the Same level of
Gross National Income (G

NI) '
bt per capita,

fferent
development outcomes jg indicatiy

ending  with g

e of the

lmportance of growth over development.

A country’s Score
Index (IHDI) is not t-he same as its
Human Development Index (HDI) even
when there is po inequality among
people. :

In Gender Develop;plé;lt Index (GDI),
values - below 1 _J-:i'ndicate higher

development for women than men.

: 'Planetary Pressures___;adjusted Human
Development Index (PHDI) focuses on|

intergenerational inequality just the

same way, as the Iﬁequality-adjusted
(IHDD)
focuses on intragenerational inequality.

According to the Human Development
Report 2021 — 22, a new uncertainty

Human Development Index

complex is emerging, which comprises of
three new concerns — planetary changes,

transformations and

sweeping social

polarized societies.

Select the correct answer using the codes

given below :

1)
(2)
(3)
h @

IVand V
I,IIIand V
II and 111
I, II and IV

Bb.

NN

[A]

HOWOHOD)  8oH.

[TEANRIALS

0SSO’ DD TV W)W ?

L.

IL.

II1.

SON8 re> rAaD BTroN0, (GNI)
2,8 FoneS &) B0 Taen &
IS IrSS @D DTS
SHACHB0 @DSHR 50T SO Ty
(S0P BD APAROD.

OISrSSD o TS, b6 -
dPeren ToHAS S 0DHIHO
JrdE  (IHDD (D20  ©ds8rdds
BIDYEE TR SIS @DSYR I DE
(HDI) 58 €08¢%.

Aol 9DIHE JrDE (BHD)S', 1 S0
BH03S Ddenden  HBhe o
ST FOH 9O @DIIO QDT oN.
VOO (RAB) - oG, TSNS
BIOV0E  R0BE) (> SED)
ST NP WIS (R0LBBIBAS
BOIITIB) D Sgm  TON0D, T
PO OIITISH-IDFen TJS
SrSS @D - DS (TrSAD)

- 880 S’ AR AJTE
DR OISTSS  (ROETFBIBAIS
BOANRIH) ) Sad DSOS,

PSS DR IO 2021-22
(D580, 28 TS ©J3)@ Hodne
ABIDS0D, oS Sk §S
8o8¥Iw Gomon - (S
B )en, RIS AN
DOIEIEN SHOOK (0D DeTaTeD.

9“"’5 VI DA FROS SHBrA0D AT
NPT DochEod :

(1)
(2)
(3)
(4)

IV H8asn v
L IIT S8k v
IT 805w 111
L IT 8o 1V
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(49)

regarding s

L

Ayus
Cs) to avail specialist
Services through district hyp,
I The Family Doctor Programme has been
planned to be implemented as al.
standalone project without the need to
be integrated with Primary Health

Centres (PHCs).

III. Dr. YSR Aarogyasri Scheme has been
revamped, by increasing the income
limit from ¥ 2:5 lakh to ¥ 5 lakh per

annum per family.

Aasara’ Scheme is intended to

IV. ‘Aarogya |
provide post-operative sustenance
allowance with  certain eligible |

1n,
. i Statements are valid | 86.

il ing the code
Select the correct answer USIDE 8
éiven below
1 Tend®
@ mmedl
@ madl
@ LI W

~Nachos @oldIHTE
BodH

&8y HOLE D
D2Deds  Ssgeld
HEOIOS DY Teweren eHT O ?

20250500

I &R 5 oo 2300F VIOD
FoSochd @) eOSVIIS EAeLS

2pd DO IOV 2068
(AB-HWCs) OIS 850 .

08523’ &?&.

IL $0enod DO HHFRY DO
a8y (S )
5 NOTAOTONS ©HDB0 show®
2.8 &:%5 JSS @BRET  edew
30&)@,@3 DT RE TOHDHOD.

folreS

IL $HencErds  HoSSIoRE  edd
HBVBD T 25 OEO DO T 5 OFON

=j08&0 5o B BINE esdiis?
DHE0 HIHRBOHDH0D.

V. ‘esy edov %o F) ©ds
ASHOS SHBVAS 95088 BIS T
B ©0HOVETIE GRIODDA0O.

BIHS BHAS Shod GHTFAD 1B
JIFTTR) DOHEOS :

1) 1500 IV

@ 1L, I 8050 IV

8) I 80 IV

(4) 1,1 0% IV
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87.

[n connection  with transport  and

infrastructure in Andhra Pragegh which of
the following statementjstatements

valid ?

is/are

I. Andhra Pradesh’s first riverine project has

been proposed between Muktyala and
Madipadu on Krishng river,

II. The Bhogapuram Greenfield International

Airport had been started with a corpus

fund that is sourced from National

Investment

(NIIF).

and Infrastructure Fund

II1. Infrastructure

investments in Andhra
Pradesh are strictly implemented only
with reference to strategic investments

like ports and industrial corridors, but not

with reference to community assets.

developed in Andhra Pradesh under the

Setu Bandhan Scheme.

Select the correct answer using the codes

given below :

(1) I,IandIII
2 OnlylV
(3 IandIV
(4) Onlyll

. Rail Over Bridges (ROBs) are being

(50)

87.

@

@5,5@5‘ Sace O Oy

e0l®
HE
HEpIOS JO/DD TRLTED dHTqy
&YTOEOD 305750 0O DG,
4055 SOIDTES” 0SS S5

Il.

B HATBODR0B.

I 3398 33 oS ok asH8s
$06 (NIIF) 08 VEBODS s
5068 STHG0 ROLTVASS (A5G

JonBY (FB0DOVVE0R.

I eolPdIBFS  FO5  doraire
EPaen  LBBHed  HBA
O TWE 5OEY  H0E3  SJrgaFedy§
RDEPDVDOF  SOVOHOD) ST
oen Todhaderaw, TH IS8T
SDOE HOD0BOD) 55,

IV. |

RV DOBS HHEo 8o 0| PNTTS

8S 4,85 |O&en (ROBen) ©dI)B
TS o,

ONS A8 A8 Fherady BHTrAoD VS

VIR JoHFo -
D) 1,1 8% III

@) IV Ire

@) INBoty v

4 IS

IR |
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8. Which

of the f
ollgw‘
is/a "8 staten -
re nent/statements

Pradesh Industrial

II.

II1.

incorf‘ect

e »
Barding the Andhra

Policy 2023 _ g7 7

To :
achiey,
€ a min:
Mimum contribution of

25% by ;
y mdustry in the State GDP

To . -
Provid

© end-to-end facilitation in
2 weeks

To envi
Visage ten (10) priorities of

accomplishment

To focus on becoming a ‘Plug and Play

State’ for investments

Ensuring land allotment by APIIC
within a period of 2 weeks upon receipt

of application

Select the  answer using the codes given

below :

(1

(2)

(3)

(4)

11, M and V
g1, M and ¥
only V

111 and IV

(51)

88.

SO OINTES TOFTDE Drdo 2023 - 278

HoOHOD (8od (DELS / DELdOS

DO/ S ?

I o GDPS HOEH® 500 55D
 BESE0 25% HODES

I 2 o8 do&-tn-d0& 20OBAS

@o&bzﬁw&)?,

ML oo Ho2ododS H& 10

La’l’cpj:{;géoén &arowda0
IV. 2epade §Ho ‘R ook R O™

SrSGo Gon DREVSE

. BO5FEY @odHS Sorgd 2 TUO

ésc‘.ﬁde‘j‘ S0(SIHNTBE FOFDE FOF
K)(f):é)"di’f@ c‘()o_c“g: (80D
FOBRONS 35@“@%36 50N
OveE)  (APIIC) csnsc} Sy -

FEeFoNOH AP'B0LH0

BHS | BIWAS  THOS  GIBrAOD
ébﬁ‘g‘é‘ﬁ; dotosod :I ’
1) II, I s0805» V

(2 LILIII OV

@) VIrSD

(4) TS0 IV
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89. Which of the following Statements are valid in
connection with Andhyg Pradesh Green

Hydrogen and Green Ammonig Policy (2023) ?

L

II.

III.

The objective is to target Green Energy
production up to the Capacity of 1 MPTA
(Million Tonneg Per Annum) or Green
Ammonia Production up to the capacity of
2:0 MTPA in the next five years.

New and Renewable Energy Development
Corporation of AP.Ltg (NREDCAP) shall
act as a Nodal Agency under this policy.

All the Ports in .1‘;-'he State
infrastructure for storing liquid nitrogen
which can then be utilized for storing
Green Hydrogen for exporting to other

countries.

The Policy prohibiifs the production of
Green Hydrogen/Green Ammonia by
using Renewable Energy and/or Biomassi
from “Third-Party/Power exchange’.

Select the correct answer using the codes

given below :

1) 11 énd II1
(2) IandIV
(3) I,IIandIll
(4) MNIandIV

have |

(62)

le

o BT IS TEBS oy,

‘

Iy

6

©RACST FOV (2023)8 H020AG o
(HELIOS” DD TLV2reD eHeray 9

L.

IL.

IIT.

o5 DBES” 1 MPTA (H03¢ e
DOAMDS 20)00) Y50 S8, 56
238 &8 S 20 MTPA s,
$5680 (AS 505" Ge8)BR ek Sor
BRSO ©F 50.

57 Odrgdend )8
BSODHDOES SEBAS o
SODDT OWBE (NREDCAP) (&
$00aH HIWENSE BOGS @iy
HoR AP. Ltd)Ss o 808 4§
DBAIT S5I3TFON0A.

OYROSQ Q) &85’ (€95 (52
QOS TOHETAE F°OE HAJasreny
GO0 A BSS TTOK A0S
BOOEIE(AS- TE=S e
DO GHTBTAOISD).
BRIQYHIE Jeyyo  Sod
DB 9% $8 Nelo\Walay
DAFSFR SHTWrAosEo oot (B9
TEINAS ez aS
TOD ARAN0S,

[Dlela)

OS2 5288 EBerey a0 W09
éé:fqma; DOHEOA -

(1)
(2)
@)

(4)

IT So80sw 111

I H8akw v

L, IT o8 asw 11
T 8 osw 1V
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(53 )
0. Which
of :
i the following statement/statements
are \ra]' .
id regarding the socio-economic

status of Andhra Pradesh ?

L.

II.

Andhra Pradesh GSDP growth rate has|
been registering a decline in recent|
times owing to repeated lower returns in :
certain sub-sectors of the Service Sector.

III. For the FY 2024 — 25, the Revenue
Deficit is budgeted higher than the
Fiscal Deficit in terms of percentage of
Andhra Pradesh GSDP.

IV. The technology used by the Government
of Andhra Pradesh while conducting
resurvey of landholdings is referred to
as ‘Continuously Operating Ref_'erence ;
Stations ( CORS)’ technology:

wer using the codes

Select the correct ans

given below :

@ 1andlV

@) 11 and I

@ mmed?

@ oo

Andhra Pradesh won the Best State
A )
ward of ICAR — National Research

Center for Banana (NRCB) for export

Promotion.

90.

@o(BHBS B8y o 28-e9R5 38
L;i)éc‘h)éorf

SonoBod |80 D8RS /

HE/DD TN )TN ?

1.

IL.

ITL.

ey S50 ICAR -
NRCB),

JHHd |
053 2B O 080 (
g  Ge» Ol D
0| BIDTT BentHdood.

% Oofio SR FRLGD SorreS
SBHT  BSBS  TRAWO el elen
so|&HTT GSDP S9% Ben 235O
00’ § s ST BB,

FY 2024 - 25 0, 0| BIDHTe GSDP
FSO DEOT BIITs Sew FPE (BOS§
Sy £0B DB ST GOB.

sriderod 8385 BRI
SOIOIDBT . HAB5o  EHTITNOT
FOoTRESS  'NB0BB0T .  DABW
885y BASen (CORS) FToSBESMm
QAT K.

B%% AXAS FHOD SGIBVrAOD OB

JHIFTTR) dotHEod :
(1) IH6awIV

2 TI00%» I

@) 11, ITT S8k TV

4)

11 (€D
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GS/1G/100 ) @
. (/% 2D
art D ! 2ar(f
Geograph AYRBSE (8O,
p y DD e l c»() d)": e
@ Following are the intrusi _ 91. ng AS @oéécﬁ) AV 5 Q) {“G:N
e st activity ani Sl\fe landforms Of Ao} 2 oL ETeN Uy
features : e characteristic aﬂﬁn 535@ PRAVY ;’3&)0‘\% E‘S{@ »
ajn % 4, (n.
L. Batholiths - 1. &eaor™ @O (B¢ 00
. u:uaﬁ?ths ' I;iuge mass of igneous rocks, 5, g g SrBS eofl) By R iy
the crustgramte‘“'at the deeper layers of | ngé) & e 8 eoh) e %
1L Ph;;l“ial‘ ) ) IL. ?d & OV D G08e, I9r
a dome shsa'- L;I' e s mounds with 0339(5066 &GONOB. o
— - ~laped upper Surface, e : HBDODS:
. . — . o)
III .]b)ykes .- W'_a}‘_l:]lkg Structures developed III. ég ':3) . gea;o?‘fi ﬁ‘é CJ‘OES gjonaj'
e v ying almost perpondiculas fo il e
e ind, . m@wméém ®h) 3
IV.  sijls . The near horizo : S en : @O0 O ey
oy tal bodies of Iv. : R
intrusive igneous rocks. e e sdrosor o)égg 5@(3‘@3;». v
Which of the above are correctly matched ? 2 05“&3\53,? 2 o
(1) ILandIg BSIHEBDEID ?
@ L & (1) LI Hockn I
o ) LI 5605 IV
s L R (2_ 3
@ LI @ 5
, IL, 111 and IV 4 LILII H8ck» IV
) : e 92. 1208 L&Jéeaée_)&’); D8KH0N0& :
92. Consider the following statements : b S

L o) 650 Y )6 o 295

I. Silicon and oxygen are common elements 2BA e383230 TS Sros

in all types of feldspar and sodium,

potassium, calcium, aluminium ete. are DO FAaAHo, FEFrA000, 5o,

found in specific feldspar yariety. - | ©OrEA0HO  ISBEY G 35
II. Almost one-fourth of the Earth’s crust is ")685en S'F 32 ow.

composed of feldspar and quartz. - I 0% Q8 S0 25derero, 2008

Which of the above statements is/are correct ? DB 5 $8.8° 508 & 0en0d.

(1) = Statement I only 2 (DEOIOS DB/ QB ?

(2)  Statement II only (1) L{Jéé&r’f) I Sredd

(3)  Both of them : g; %&5;;;6 II Sy(e53h

(4) None of them W SA s .

(1) Geomorphic processes br}an about o ég é‘ EaSHen 25"3, o
changes in the configuration of the @) 2205088 Sy 8 b
surface of the Earth. ) e;}meao QETDE  SHBKL @ ;%6 b

(2) Diastrophism and _ volcanism _are WL ©FD wosgas &
endogenic geomorphic processes. SEabey, G

i ogeni @ 25>@d8 58 $§S

¢ and exogenic forces cause o eo 'S
(3) :‘}I:;B?‘l:'ﬁog:gsses and chemical actiong ?ﬁj“z)wgwo‘;_) TRE 2,280 L0
G AR BIAER Y i g o S8 S BIT s
Orogeny is the continental building 4) 34 595:1""3655950 PR PRI

(4) >
process. V060 (D8,
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65/1G/109

M.

Soil format

£: ion j

1aCt0rs: § controlleq by the following

1L arent materig)

II‘ TUDOgTaphy
I\:- Climate
¥ Biological activity
Which

ich of the abo

ve are

A T e
@) Tand 01 only
(3) III and IV only
@) LILMandry
Match the following :

List.

p é‘jt 1 List-1I
% o ouds) (Description)

- Lirrus I. Milky appearance
B. Cirrostratus II. Silky appearance
C. Cirrocumulus III. Cauliflower

structure
D. Cumulus IV. Small globular
masses

Choose the correct answer using the codes
given below :

{65)

94.

95.

96.

A B C D
1 I ‘ I 11 v
@ Iv I 1T I
(4) I v I II
Consider the following statements :
I Doldrums are the strong winds that
. have rapid surface mo_vement.
Jing trade wind direction in
- z::thpeﬁr;lemliphere is northwest.
Which of the above statements is/are correct ?
1
(1) Statement I only
(2) Statement 11 only P
(3) Both of them '
(4) None of them

808 TEwen HpRE (B JToARIASISH
DAOEIRT O :

. Sreédyde
I Qergye
L 3SR
IV. 25550208 tddsen
V. 50
23 DEYS) FBS 180530 SO D ?
(1) I, 11 So8as» I
@) 1005w 111 Sr(esad
(3)  II 00w IV Srebad
(4) I, II, I o8 aso IV
1B0® T3 BBHEWO :
e -1 zrde-11
(Deirew) (3
A DB L  are Hoe3
' B35 ETHI
B. ™I LR I ey Hoe3
AR I{OVSINW
C. HFLDOD ML KDY (OPIB)
Q0620
D. 505 V. QAd) Fersd
e esyehoen
AMNS BIES FEOD GDHTA0D) JBS
DT NOTHEOR
A B C D
@ I 1 L. IV
2 II 1 1A% 111
@ v I |
(49 IO v 1 II

(B08 (DEEISOD HONESONDOE

L Qorgsh oderen O S0
E3OES $O8 @08, &N0SO0 D DT
DOJN TFeVEN.

&STERPoS’ TIrd HITO AT &OF
OSSO GOLNOR.

2 HELIOS’ DO/ SOV ?

(1) (DILS T Sr|ad

(2)  (DIOS T Sr(ehsd

(3) Doy

4) O s

II,
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Identify  the incorrect
extra-tropical cyclones :
(1) These develop in
latitudes.
(2) They do not have a
3 They st IELrg‘:;:lear frontal system.
the tropical cyclones,

| (4) They can originate over the land and sea

on

97. statement

the mid and high

98. Consider the following :

L Dry winter Season
II.  Nodry season
HI. Dry hot summer

IV. Dryand Very severe winter

Which of the above are not the characteristic
features of Mediterranean Climate ?

° (O I IIandII (2) LIIandIV

(3 IL I and IV (4) L II and IV
99. Guyotis: |
(1) A mountain with pointed summit rising
from the seafloor that does not reach the
surface of the ocean.
A deep valley sometimes found cutting
across the continental shelves and slopes.

A flat topped seamount showing the
evidence of gradual subsidence through

stages.
A low island found in the tropical oceans
consisting of coral reefs surrounding a

central depression.

(2)

3

4)

100. Consider the following statements : -
In general, the terrigenous deposits are

L
' derived from the land and are mainly
deposited on the continental shelves._

II. From the shore onwards, there is a
gradual increase in the coarseness of the
terrigenous deposits.

III. The muds, the finest materials, are the

| terrigenous deposits.

IV. The colouring of the muds depends upon

their chemical content.

Which of the above statements are correct ?
(1) LIIandIII (2) II, III and IV

(3) I IIandIV '(4) I,ITand IV

(56)

97.

98.

99.

100.

DDFF QDO P ETEOD S5

1DHESS HBOBOA :

(D 3D DS HOAW RS 5 07mesest

@Sy & Socdesow.

¢38 DR & S5ede Ty,

@ GRDOBO VETTOS )3,

DYeh |TOT) (D2TVS0 Trayy.

(4) @D FrD HOAW DINV(B0  dyyre
&C5)NOTIN).

8o& °¢3 HBHeJo 0 :

I esos O S0

II. & 50 GO

M. & 3& IO _

IV. 3500 AT HOAW Ter &S

el AVeIA)
2 T3S DD DNSIBOTT ISAVS ©F eren

5% ?

(1) LIS I (2) I, IT 805w IV

(3) ILIISOHOSSHIV (4) I, T H8as» IV

3¢S @IJA : _

(1) QAW G005 r) DHED

DIV RBHZTH0 OB IE)IAS

A8 BPB0SE’ Er@S HE g¢50.

FAQ POTTOBE @0t SHBAK

TO DT DOAY” ISF .8

SBS S,

A oS ESoom §mes Serded

LrYEr GOT 2.8 DS FPTR) &6

&0T SN[ HE 5e50.

GRDNOGO SHHVIV TS EDDH0I

S0 | Ho HHo, TR oS

. SBEY (oo T &) DNSD

AR)OD 08 Gotnod.

Bod (DS D8eJodo :

L S0, irades JZdren 570
OB &BYN0D DB SIaxNleley
POT0SS OHS JE Ny aw.

(2)
(3)

(2)

(3)

(4)

I 880 20&, 2rade diare Arod
Bened®  HOSTO0) Bdorr
RDHS0A.

I 20808, OB, DTT D,
ZOHOSEDS D rew.

IV. 2088 awE, Sorhy ¢ Srahd
Q0D A SLFEHA S0LN0dD.

R (DEQIOS’ DD DB S ?

(D) LI O8I (2) II, I B0 IV
@) LIISOBA IV (4) I, IT 8% IV
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101 Consider th £ (57)
e .
L  The Gre:?o;:.l;g Statements : 101. (08 HESOS HOBBO0A :
f{)l"mSaSeI‘ie 1 Valley in East Africa 1. é)‘d);) &3@)5"8:} 23“8 Hen C‘SG()NS)
IL Most of the e, (DEG &8), YIS VAL 23
III. Lake Mal:‘.a- ]a.lkes are fresh water lakes. DG B0 E.
the Rift Val?elym at the southern end in II. & r‘()oa’)agoé‘ B0 erfio JHoDE3
IV. Lake Victopin . DB Hen.
the Rift \:‘_‘;E:, the largest one, is a part of I Serd) HOXY - Hibhen SaHheS
Which of the aboye gt 8 950 DIES GOB.
(1) L, and - atements are correct ? IV. @806 ©ond IFBoSe G0, &

Shen SaHeS’ 2.8 ario.
D DELSOES” DD HBIJ ?
(1) I, II08cw III
(2) 1L, III 8050 IV
(3) LIISDHOWIV

(2)  IL 11T ang v
3) I, ang v
4 I, and1v

102. Consider the following countries - . (4) I,III &'J)Ocﬁl) v
L Chile 102. (808 Bare>d H0fedodod
II.  Venezuela L. 99
III. Ecuador I. 3JIdzrer
IV. Peru I &Ssb
V.  Colombia v. 286
Which of the above South American countries V.  Seodair
have a Pacific coastline ? D &80 oS BTS HVD5 &8 B
(1) LILIMand IV " ‘ SOR &) B0 AN ?
(2 LILIVandV: . (1) LI I 805 IV
(3) LIIILLIVandV (2) LILIVS8a»V
(4) I, IIIand IV only @) 1,11 IV 08k V

(4) LTI 580 IV Sr(d s

108. Identify the incorrect statement :
103. D857 (DELSD HOOLOA :

(1) Taiga is the largest land biome in the 1) B DN0N0SE  eodnd ¢
world. BTG OB O.
_ 2) & SO BTI6D HONDO GBS
] Id biome stretches across the = - =
(2) E:tsh::n pol:tion f North America, SDBT, AFED HOAD BVAFS'
Europe and Asia. &S 220 DIBOD od.
. 3) & BTI80 SHodeod, FEseo
(3) Within this biome, there 18 a narrow DHBAD IV sere) HE§ Gar|iedse
range of temperatures nﬂbetween the SEII0 Trer S80S GOVOS. |
winter and summer seasons. _ (4) & BTS00 SHokeos S0
. ..o this biome is moderately A FBIT  DE0yR NGO
(4) P.reaptl;izt‘:;l::ut :he year with snow GOLVOB, Yoso0od’ a0
high the winter months, 0.

occurring during
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GS/1G/100 (58 ) ‘ .
. ¢ A
104. Which of the follows , 0 airer (808 (HESS D 5 A
Himalayas are corr:;? E'?r ratements regarding | 104. ;TN?J‘:}?O&PQD AR K)Oﬁo‘\{sﬁa
g wme g QU208 )
L. I-:lmalayﬂs are geologically young and t?cf).),b 0O 3 o %EE
a . .
structurally fo)1q Mountains, G ST 4
IL  They are wig. « I 2D 5965 Schen)mr Sn8asy s
the N Wide in Kashmir and narrow in | D‘L?és REOZSIT GO, K
€ North-easterp states, : % Sye¥voo oie> oehed
L Th | I &) FSredire D gy
. ase folds- of Great Himalayas o D5erd0 5O ol ¢ §0Lc3 2
COI};lm onoirical in nature and their core is . PSS $rd oo, r,
Posed of granite, IV. &) DBCM D5 rey
IV, 'éhe longitudinal valleys lying between S ) VN VNSO Ty
reater gng Lesser Himalayas are P 0 @0eD. E
OWn as Duns. _ AHS BIFDAS FROD GOTJrAoy
Select the Correct an K)&&T‘Q"E"al o)Ot:l)gso(ﬁI ¥
given beloy | SWer using the codes 1) I, TII o805 IV
(1) II, 11 ang v (2) I,II 8605w III
: 8w IV
) LI | 3) IIII
and II1 (4) L II, III 08050 IV
@) LIland1v . gloak : : ‘
. : 105. S)S $5Q88e (D560 2rBSTIoTy b8
4)  LIL I and Iv - | L TR (OO 2SS0 -
| o zrdee1 & I1
105. Match the following Climatic regions of India| (&5 &50) ((roeey)
according to Koeppen’s scheme : : - A SE0.S B L &% il
List-1 List-11 | FOOS o
J (Type of Climate) (Areas) . > OSTH
A. Monsoon with I.- West coast of D&DSren DB)0e380
short dry season India, south of B. 835 I "
e | Do L S8srond &
B. Monsoon with dry 1II. .Coromaﬁdel coast | = - C DRBSren ST
summer of Tamil Nadu © &8 TS0 Key TII Sagids
C. Monsoon with dry III. Most of O N
winter North-East India : , 0 288350 &
D. Semi-arid Steppe 1V. No?thwestern | D y 803 o710 ¢
climate Gujarat - VRSB G IV T Os0a§ HEC
Choose the correct answer using the codes Versbeno 23
given below : . ?ﬁ)&’) AR TN TR &Haraod &
A B C D VTR, JotHod -
I 11 m. Iv. | A B ¢
I III
2 I I IV I @ 1 - o
v I 1AY II1
(3 I I @ m g IV o
4 m v 1 I - - Wem o II
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(69) E
. W'th' I .
]arlge;?cazlccl:gie Ganga river basin has the|108. 2rdeg$socs’, Ko SO (oso ORDS
the correct sequence yu tro, (126 PIOWINE 18| 585 romd) SO0 08, @ dorge
e 1 2 N ’
(1) Indus > Brappy SRAREEY ef S 5006 DB (80 808 desorr
Krishna WOE b Codmrgst = GOEN0E :
2 (1) O > [T > s > Syar

Bl‘ahmaputra > Ind .
Krishna us > Goda‘varl > 2 e > DO > 58 > Soar

(3) O > T8 > EYak > (225T)\e5

}3) Indus > Godavari > Krishna >
' 4) RIS > DO > 8k > Frrss

Brahmaputra

(4))( (B}E:hma}?utra > Indus > Krishna >
avari 107. 2rESTIoSD DS FoF 993 dokd
HE3DAS Horgren (DeEd)ie DyB¥en 2863,

P BELCH EIDIOW :

107, ;
Peaty soils are one of the major soils of India.

These are found in : 1) $5055 AZES (ODoh o5r§del) &
() the areas of low rainfall with low STAS S5pd  SQrdo &)
leaching activity. G rosEew.
2) tzljen?reas.ofl'ﬁgh temperature and high|  (2) SEDS JTEIS @O  &YPIS
@ :h all with intense leaching. » B A SBIFB0 &) (o en.
e areas of heavy rainfall and high BOZ
‘huinidity with good vegetation. ¢ ) _?O;;?é éﬁg;iéé& ﬁ%é ©&s
(4) the areas of semi-arid climate with Q -O S 6 e
. alinity._)a Brosren.
- @) OSHFHSS  Erads  >EE HI
TEISEI0 ) (0T eN.

108. In India, Sholas are :

(1) Tropical forests found in the Bastar|108. rESTIOS, feren :

region M 226 L;)"o_éoé‘ EADOT &RDOGB®
(2) Tropical evergreen forests of Andaman €C3)eN
& Nicobar islands (2)  ®OBTS DB  JFrE Ao
(83) Moist deciduous forests in the EoR V0GB Hebeb O e9cheyen
North-eastern states (3) &S O arS’ B0 §rAS sHo°S
(4) Temperate forests in the Anaimalai and | aden) '
Palani hills - . 4) ©THB HO0H IFD FodeS
DDISR @ChHeN
109. :lr:e?gjl:é‘sitn}:’radesh, Dharwar .typ s i g 109. @o(QBFS, rogh Sy o A/EE
: . QO : '
(1) The Krishna basin, | 1) &3 BOS '
(2) The Godavari delta region @) R G @080
(3) The Kurnool region (8) E&ryen (ro$o
(4) The Chittoor and Nellore region @) OErd DA TS oS0
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GS/1G/100 - ;
@ Match the following : 110. 1808 T3 2SIEW0R : E . G
: List-1 List-IT
g arde1 1
(Wildlife ‘ (Endangered pe - c’b"’&')@_‘-ﬂ
Sanctuary in Species) (&0 (@Oé@ogﬁd
Andhra Pradesh) SISl eV 2reSre)
A. Coringa I. Great Indian e025arde o)
i Bustard 80K y
5 guar;fr:la II. Jerdon’s Courser A © L Qg
T eswaram
C. Rollapadu II: Saltwiter Crocodile B. mg@‘? II. 3084
. (223 5860 ,
D. Sri IV. Tiger }
Lankamalleswara C. B> IIL. &5y Oe3 BN :
D. § 0050BEss V. HO
Choose the correct answer using th d -
given below : g the codes BHI BSIDAD FHOD &GIOITPN0N (Y
BEPETR), DOTHEOR !
A B c D A B C D
1 I II 111 v 1 I II 111 v
@2 T I v I @ o 1 v I
(3) III I v II
9 W £ ., o @ m v 1 1
| 9 m m 1 I
' 111. ($08 & 25HE508
ﬁ. Match the following : eI a1l
List-I List-1I (Feorey! (|5r0e50)
(Hunters/ _ (Region) SorE B
Nomadic tribes) .
A. Pygmies . East Africa A, e L erd) 8T
B. Masai “II. Congo basin B Sorow . soff PO
G, [BemEgs e B:neo, C. Sroh) TIL. 50087
. Punan IV. Malaysia R
e D. SIS IV, SHSa0Y :;
. !
Choose the correct answer using the codes - SH S & 5T -
given below : 450 2 JoEod :
A B C D " B C D
@ o1 o oy o L. WAl
@ m - I v I w0 B o B wl
1I . (4) 111 v I I

(4 III v I
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@ IIdentify the

00

A ine
Inguistic diver Orrect statement on the

1 1 19
61 census 16 .
: Sus, 52 lan s were
(2) listed as mother tongues in Ig:;if
N\ Kachchi and Sj i
]Emg‘uages_- indhi are Indo-European
(3)

4)

Sity of India :

?ust?c languages are spoken by the
rbal groups in Jharkhand.

Dardi is a Sino-Tibetan language.

113, Match the following

ﬁ,;;;‘:h v Listh
agriculture) urn (Practising region)
A. Ladang L. Central America
B. Milpa IL Indonesia
C. Roca III. Central Africa
D. Masole IV. Brazil
Choose the correct answer using the codes
given below :
A B C D
1 I IT III v
(@ o1 v I
3) III I A% II
(4) I IV I I
Following are the regions of Iron and Steel |
industry in the world : :
I The Atlantic coast region : The United

I[I. The Ural region : Russia

[II. The Ruhr region : Eastern Europe |

IV. The North-eastern and Central parts :
The United Kingdom

Which of the above are correctly matched ?

1) I, 1landIII

2) 1, ITandIV '

@ LI and IV

4 LIL III and IV

States

i

{61)

112.

113.

114,

2y STy 2T DGO BDIS D8I
h8othod :

1 1961 e BE© 500, 2ré&Tios’
1652 rhen SrSraNT  2dw
ToHDFON.

0 Ba» VOB 208-05rSN0HS
27 EN. '

e RE  TROD >P0HER  Ad2S
DD Syer .

(2)

3)

@) o0 ©I6 o8 RS-BBOS 2.
8o o°¢3Q 25H8508 :

arde1 arde-11

(LD oSsS3aD0) (T (0e50)
A. ©owoh L+ DY DOs
B. Der) 1. [OEIhE
c. 8s L 0S5 s
D. &S v, B2S
BN AS5DAS FHOD GITJrAoD JBS
DIFETT R, OO

A B C D

1 I ‘1T 11T v
@ n 1 v I
3 I I v I
4) 1III v 1 1

BoAD (HH0BOS'D @SN SO ¥
OB (rosPeN

L  otrogs§ &8 oo

(SRVloloy
QOoaNE T°laren

IL  OES (200 : B

I 58 |00 : 3% D&

IV. &5 DO Sy arrren

- AT S Sofictad

2N DI, TS’ DD ST HOFOID ?
(1) I II8a%w T

(2) L1808 IV

3) I, 11000 IV

(4) 1,11, I 50805 IV
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(62) # & 1?‘9;1@
115. e = e s
Trax:ns-Stbenan Rallwdy Hibs ‘Betwens ihig (118 50 erSy DS B 3
stations in Russia from : NTal4 G0otn08 550
(1) Moscow to Vladivostok g S o Qﬁégs‘gbg :';)ééo
2
(2)  Moscow to Khabarovsk @ & rf)JO? » = V) TOHS'TE
3 3) OO 5360 08 =
(3)  St. Petersburg to Vladivostok - $58
(4)  St. Petersburg to Khabarovsk (4) 20008 33&5,3835 o 9)2.)565,'}?:
S8
@. Consider the following states of India :
I . g so ndia : J i 558 sDfoSD & 8od OO
- ol HBKEB0S0% :
II.  Odisha 1. HoTD
[II. Haryana | I 0%
1. o
IV. Tamil Nad
A A V. SNETW
Which of the above states 'ljafive ¢lativeiy high | D olaros 363956 571508) zere DA tfo
level of groundwater utilization ? rngomr B0 0 ?
(1) L IIandIII 1) 1,11 n0ckw II
& : I,II
2) LIlandIV - Wikl
@ IS8 IV
(3 LIMandIV (@) 1,11, III SHdosw IV
(4 TLILIIandIV ° |
117. 885508 Fens Dot IR SIS
(8BS0 BBoB0s : |
117. Identify the incorrect statement on Wheat || $a
crop cultivation in India : O catl! 2 ©3 SOPIDS
_ g &8¢0 4
(1) It is the second most important cereal . i i
— 2 20 DOHBHS) Foos 28 3O
(2) 1t is a Rabi crop that requires a cool TEIGR0 I8 3D Hob.
growing season. %
] @ e weor o st maes
.2 chi e Ganga-Sa = ©
(3) It is chiefly grown in B -akin ATV MeAY

plains.
(4) Black soil region of the Deccan is not

suitable for wheat cultivation.

@) SESSD IUBKA T |r0eso KD

D ©OHETFOO K.
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(63
fonslde-l“ the followlng ol Bl of fuidie
' Dighoj
L Moray
L Kalo)
Iv, Naharkatlya
A‘Z}:ai :f the above oil fields are located in
M Lo and IJT
(2) I I and TV
@) L IIang1v.
4) LI I and 1v

119. In India, most of the jute mills are located in :
(1)
(2)
3)
(4)

Damodar basin
Subarnarekha basin
Hugli basin .
Brahmaputra basin

120. Consider the following erstwhile districts of

Andhra Pradesh :

I West Godavari
II. East Godavari
III. Visakhapatnam
IV. Srikakulam

In which of the above districts are coffee

plantations mainly existing in their agency

118. erdsgioS R &

(A]

800 BINE Tlmey,

)

$0Ke80508

I O

I 30

. 'S

IV. So8e30% ,
2 DES) BINE oS D o0
Gy oW ?

(1) 1,11 Sdcsn 11T

2) I, 10805 IV -

(3) 1, III H8asw IV .

(4 LILII oo IV

rSSTios, wrer J8% 273 even
Q8 GO :

1) o3red & ([roso

(2) L0 & [roeo

@) Sof & rosso

@) (REDIS SO |00

119.

SOIPDDBISA & (1808 Fds BTOD
_ 583008 ;
L 3D Forss
I &rd) Forsd
III. AP0
V. 3Is%%o
S DY, D S 58 Seren DerSorr
B0 B |ToeS G om ?

120.

I, II oo 11T
IT 805w IIT S\
I, TH 8050 IV

n
(2)
(3)

areas ?

(1) I,1IandIII

(2) IlandIII only
(3) I, IIand v

(4) IlandIV only

(4)  III S805 IV Sz
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